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Sl. No.1
QBID:33201001
The following table shows the distribution of number (in Lakhs) of Mobile Phones in seven different states

and percentage distribution of these Phones among three different categories of people of India (High/ Middle/
Low income) under the CONNECT Scheme. Total Mobile Phones distributed are 30 Lakhs. Some values
(marked as '-") are missing in the table which vou are expected to calculate if required. Based on the data in the
table, answer the question.

State -wise distribution of Mobile Phones

Number of | Distribution (%) of Mobile Phones among people
Mobile with

State Phones _

Distributed 2 T A Middle Low

(in lakhs) Income Income

MP 6.5 13% . 30%
Bihar |34 12% 32% -
UP. 25 8% 13% 1
Harvana|5.2 - 25% !
Punjab |- 21% 22% -
Assam 4.2 - 9%, 789
Kerala |4.7 15% o 60%

fgfafad ot I oxee @m & sidrid ama fig Il 8 diega BF &t de @@ o) famor g
ST YRd © oal @1 diF 14 Afordt (F=ms fm sm) § ufawrd fgavur exfarmn € | oo fGaka
AiaTgd Bl &1 991 30 96 § | difeidl 3§ $o 9 (- & w9 4 i) 9« § e SaxasdaR
UM &RAT MO SO § | aifasT 8 Ued Sfida! & SMYUR UR U &1 3T Sl :

TIETge BIHI BT IU-R faaror
] a“m; . ST @1 g 40l § AiEred BiEl @1 G 0)
b D e
3= A e 3 3

g dl (6.5 15% - 50%
TR |34 12% 32%
SS9 |25 8% 13%
TIETn|s 2 - 25%
LEICEE 21% 22%
g 4.2 - 994 78%
HId |47 15% : 60%
Total distribution of Mobile phones in M.P. is % less than that of in Assam and Punjab together.

1.15.58

2.12.98

3.18.42

4,172
1) 1
) 2
(3) 3
4) 4

4. T Hiagd Bl B Pd [Gavvl /99 d Uue ol (e gu faaRl 3 o aiawd 1 3 2

1. 15.58
2.12.98
3.18.42
4, 17.23

(1) 1

(2) 2

(3) 3




(4) 4

1[Option ID=40501] Question Description : general_paper_genarel paper_set 33_english_q1
2[Option ID=40502]
3[Option ID=40503]
4[Option ID=40504]

Sl. No.2
QBID:33201002
The following table shows the distribution of number (in Lakhs) of Mobile Phones in seven different states

and percentage distribution of these Phones among three different categories of people of India (High/ Middle/
Low income) under the CONNECT Scheme. Total Mobile Phones distributed are 30 Lakhs. Some values
(marked as '-") are missing in the table which you are expected to calculate if required. Based on the data in the
table, answer the question.

State -wise distribution of Mobile Phones

Number of | Distribution (%) of Mobile Phones among people
Mobile with

State Phones =

Distributed Hish Ficoie Middle Low

(in lakhs) = Income | Income

ME 6.5 15% . 0%
Bihar |34 12% 32% L
U.B 25 2% 13% 1
Haryana|5.2 - 25% -
Punjab |- 21% 22% -
Assam 4.2 = 9% T&%
Kerala 4.7 153% 60%

frgfafad arfeet & @xee @iE & sidrld ama fiug Tl | diega B @ e @re §) fawmo g
DT YRd B el 31 i fie St (S=me e sm 3§ ufae fGorur exfar mn € | oo faaka
OIS BiHl & 1 30 TG & | el 8 $8 O (- & w9 3 i) g« § Fe! siaxgsdar
IO BRAT TG SUTed & | AT § Wed 3fiavs! & SUR U WY P 30 alfoid :

Hiarsd Kl &1 Iod-aR [daror
a“m?-ﬁ S @1 9 Aot & Jiargd BT &1 fadwon (%
: (%)
R “aﬁ'ﬁi-i
T
I 3 g g 3
@ra ) g
o 6.5 15% = 50%
ferR [3.4 12% 329
IU (23 8% 13%
gim|s.2 . 25%
PEICHE 21% 22%
e |42 - 994 78%
Hed |47 15% - 60%

What is the ratio of distribution of Mobile Phones in Low income people of Bihar to the Middle income
people of Kerala ?

1. 25:18
2.19:12
3.18:25
4,1904:1175
(1)1

) 2

3) 3

(4) 4

fogR & 19 3y & aafdayl # fdivd Aiegd BiFil & dhd & HeT 31 & Afaadl # f[adid Ai9rsd Bl &
1Y D1 3T fbaT g 2

1.25:18
2.19:12
3.18:25
.1904:1175
(1) 1

) 2

(3) 3

(4) 4

=




1[Option
2[Option
3[Option
4[Option

ID=40505]
ID=40506]
I1D=40507]
I1D=40508]

Question Description : general_paper_genarel paper_set 33_english_q2

Sl. No.3

QBID:33201003

The following table shows the distribution of number (in Lakhs) of Mobile Phones in seven different states
and percentage distribution of these Phones among three different categories of people of India (High/ Middle/
Low income) under the CONNECT Scheme. Total Mobile Phones distributed are 30 Lakhs. Some values
(marked as '-") are missing in the table which you are expected to calculate if required. Based on the data in the
table, answer the question.

State -wise distribution of Mobile Phones

Number of | Distribution (%) of Mobile Phones among people
Mobile with

State Phones =

Distributed Hishi s Middle Low

(in lakhs) = Income | Income

MP 6.5 15% - 50%
Bihar 3.4 12% 32% -
U.P. 25 8% 13% -
Harvana|5.2 - 25% -
Punjab |- 21% 22% -
Assam 4.2 - 9% 78%
Kerala 4.7 13% - 60%

Fafafad arfere & o-ee | & idrid ama fiug vl | diega B @1 den @ra ®) fdwo g
SAPI YRA &I o dl $I dF 1 STl (S=ame 4 am) § uiawrd fadvo i @ g | $d fadaika
TiaTge BiHl &1 ST 30 TRG & | Ao & 8 7F (- & 0 3 fafea) q@ € et siavasmariar
TIOHT RAT I ST © | AT § Wed ias! & SR R WY &1 3R alfol :

HiaTsd Wil &1 Tod-aR [darur
a“m? . ST @1 g Sl § Hiared BiFl @ [Ga %)
RS Elaﬁ' 2l
T
I A e 3 34
g dl (6.5 15% E 50%
TR [3.4 12% 329
FU |25 8% 13%
sim|s.2 - 23%
UElE 21% 22%
g |42 - 904 78%
S |47 15% - 60%

What is the difference between the number of Mobile phones distributed among High income people of UP,
MP and Kerala together and Middle income people of Haryana, Punjab and Kerala together ?

o b

(1)1
) 2
(3) 3
(4) 4

IR YaN, U Y4RI G R H 3= ydrd adfdadl ¥ [aaRd HisTsd WiFl ST g S SR sRa,
UoTTd 4 hea § 0 31 aTdl oieadl 3 [qaikd AiaTgd BiH] 1 ol Iedl & aid [da-l 3o 8 2

. 144800
. 136300
. 140900
. 144200

[ S

A )

1)1
(2) 2
3) 3
(4) 4

1[Option
2[Option

. 144800
. 136500
. 140900
. 144200

ID=40509]
ID=40510]

Question Description : general_paper_genarel paper_set 33_english_q3




3[Option ID=40511]
4[Option ID=40512]

Sl. No.4
QBID:33201004
The following table shows the distribution of number (in Lakhs) of Mobile Phones in seven different states

and percentage distribution of these Phones among three different categories of people of India (High/ Middle/
Low income) under the CONNECT Scheme. Total Mobile Phones distributed are 30 Lakhs. Some values
(marked as '-") are missing in the table which you are expected to calculate if required. Based on the data in the
table, answer the question.

State -wise distribution of Mobile Phones

Number of | Distribution (%) of Mobile Phones among people
Mobile with

State Phones =

Distributed Hish Ficoe Middle Low

(in lakhs) = Income | Income

MEP 6.5 15% . 30%
Bihar |34 12% 32% ]
UP. # ) 8% 13% !
Haryana|5.2 - 235% 1
Punjab |- 21% 22% -
Assam 4.2 - 9% 78%
Kerala 4.7 13% 60%

frafafad arfeet & e-ee @im & idrld ama fug Tl | diega B @ den @re 5 fawmo g
ST YRA B od @1 i 1 Aot (S=mer - 3m T ufawd faavur exfarmn g | oa faaka
HiaTg BiHl &1 W1 30 TG & | A1l § o T (- & &0 1 i) @ & oHe! sTavaddriaR
TUMET ST 3TIY SUfEd § | aIfdT J Ued Sids! & YR 9R 9 PT IR Giorg :

Hiarsd Kl &1 Iod-aR [daror

a“izqﬁ:ﬁi. T @1 9 At & JErga BF &1 A o)
R Elaﬁ' 5
T

@rE ) I 3 gy | g em
T 6.5 15% = 50%
ferR [3.4 12% 329
IU (23 8% 13%
gim|s.2 . 25%
PEICHE 21% 22%
O 42 - 9% 78%
I 4.7 15% - 60%

In Haryana state, the ratie of distribution (%) of Mobile phones among High income people to the Low
income people is 2:3, then the distribution of Mobile Phones among High income people in the same state is
more than that of among Middle income people.

. 26000
. 14000
. 21000
. 24000
(1) 1
(2) 2
3) 3
(4) 4

SRaTn I 1 3= S aTel e 4 FE ST arel ofakdl 1 [AaRd (%) HiaTgd BiHl o 0 2:3 8.
<1 341 Irew § I 31 arel sfekigl § fadid Bl @1 9 98l & Hed 31 ard oufaad| | fadiRd B
] T ¥ faral e § 2

26000
. 14000
. 21000
. 24000
(1) 1
(2) 2
(3) 3
(4) 4

B R

b=

ER )

1[Option ID=40513] Question Description : general_paper_genarel paper_set 33_english_q4
2[Option ID=40514]




3[Option ID=40515]
4[Option ID=40516]

Sl. No.5
QBID:33201005
The following table shows the distribution of number (in Lakhs) of Mobile Phones in seven different states

and percentage distribution of these Phones among three different categories of people of India (High/ Middle/
Low income) under the CONNECT Scheme. Total Mobile Phones distributed are 30 Lakhs. Some values
(marked as '-") are missing in the table which you are expected to calculate if required. Based on the data in the
table, answer the question.

State -wise distribution of Mobile Phones

Number of | Distribution (%) of Mobile Phones among people
Mobile with
State Phones =
Distributed Hish Ficoe Middle Low
(in lakhs) H Income | Income
ME 6.5 15% . 0%
Bihar |34 12% 32% ]
U.B 25 2% 13%% ]
Haryana|5.2 - 25% -
Punjab |- 21% 22% -
Assam 4.2 = 9% T&%
Kerala (4.7 153% 60%

frafafad arfeet & e-ee @im & idrld ama fug Tl | diega B @ den @re 5 fawmo g
ST YRA B od @1 i 1 Aot (S=mer - 3m T ufawd faavur exfarmn g | oa faaka
TS Bl ® 991 30 TG & | AIaT 8 $8 OF (- & ¥ 9 1 f[Afea) @ § ome! SavghdraR
IO BRAT TG SUTed & | AT § Wed 3fiavs! & SUR U WY P 30 alfoid :

Hiarsd Kl &1 Iod-aR [daror
< T @1 9 At & JErga BF &1 A o)
R E’aﬁlaif
T

@) I 3 gy | g em
T 6.5 15% = 50%
ferR [3.4 12% 329
IU (23 8% 13%
elfemm]|s 2 . 25%
PEICHE 21% 22%
gH |42 - 994 78%
I 4.7 15% - 60%

Total distribution of Mobile Phones in Low income people of all the states together excluding Harvana is
approximately % of the total distribution in all the states together ?

1.63.7
2.45.6
3.54.9
4. 50.7

1) 1

(2) 2

(3) 3

(4) 4

s DI SlsHR A9 FHI Il D fErenedr 98l & F9 31 are cfeadi § Hiegd Bi- &1 o [gaRo
Tt IrsgT o1 i) gU g faaRor &1 T i wiaRia & 2

.83.7
456
.54.9
.50.7
1)1
(2) 2
(3) 3
(4) 4

b2 =

o Lad

1[Option ID=40517] Question Description : general_paper_genarel paper_set 33_english_q5
2[Option ID=40518]
3[Option ID=40519]
4[Option ID=40520]




Sl. No.6
QBID:33201006

Match List I with List IT

LIST I (E-Learning :
alile a6 LIST IT (Meaning)
A [Podcasts I. |The personal websites that contain contents organised like a Journal or diary.
B. [Blogs II. |The dissemination of recorded or live content over the internet.
C. [Wiki III. |The digital audio or video files contamning meaningful content for learning.
= : . |The open, dynamic websites with collaboratively constructed knowledge, information and
D. |Webcasting A s i 3
resources which are freely available on mnternet.

Choose the correct answer from the options given below:

1. A-IL B-IV, C-III, D-I
2. AL B-I, C-IV, D-II
3. A-IV, B-II, C-III, D-I
4. AL B-1, C-IV, D-III

1) 1

(2) 2

(3) 3

(4) 4

el 1 1 Gl 11 T Siforg

Qﬁﬁmﬁml G S T 11 (3
A [dig@re 1 [qafdd® dedrse o 3 dfddtd @l o HYal S &) Hifd §ilied iedl idl ¢ |
B. [&mT 11 [3fUTIRad Hal Goilid Jiddeg @l 3ed-e I TR
C. [[a®t 1L [aifrTH B Tde Sidasgarc [STacta Hfsal #udl aiisdl g

— . [ES%T W A ¥U ¥ JUcTe HedIdHD akic 4 Vad i, Y1 d GaeHT arall
i i [, T degrse

frafafad faedal & 4 98t STk &1 901 Sife -

. A-II, B-IV, C-III, D-I
. A-IIL, B-1, C-IV, D-II
. A-IV, B-II, C-II1, D-I
. A-II, B-I, C-IV, D-III
11
() 2
(3) 3
(4) 4

da s ko

1[Option ID=40521] Question Description : general_paper_genarel paper_set 33_english_q6
2[Option ID=40522]
3[Option ID=40523]
4[Option ID=40524]

Sl. No.7
QBID:33201007

Which of the following are the characteristics of an Ideal Evaluation in teaching-learning process ?

A. Comprehensiveness
B. Validity

C. Reliability

D. Subjectivity

Choose the most appropriate answer from the options given below :

1.B and D Only
2.A,Band C Only
3.A, Cand D Only
4. B and D Only

(1) 1

2) 2

3) 3

4) 4




&7 e witha # Siawl Heaie $i Fafiied & 4 wH-$H 9 faRpan § 2

A, SOEHAT
B. dudl

c. Tayg-taar
D. fowafamar

=1 fem o foshedl & O Hed 30T 3O @ =9 il

1. $ad B 3R D

2.$aA, B AR C

3. ®ad A, C 3R D

4. $aAB 3R D

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40525] Question Description : general_paper_genarel paper_set 33_english_q7
2[Option ID=40526]

3[Option ID=40527]
4[Option ID=40528]

Sl. No.8
QBID:33201008

Which of the following statements are true about 'SWAYAM' ?

A. Swayam is designed to achieve three cardinal principles.

B. Swayam is hosting all the courses, taught in classrooms from IX till Post graduation.
C. Swayam assesses students continuously and grants degrees.

D. It can be accessed by anyone, anytime at any place.

Choose the most appropriate answer from the options given below :

1. Aand C Only
2. A, Cand D Only
3.A,Band D Only
4. B and C Only
1 1
(2) 2
3) 3
(4) 4

R & Hae H FiEad # 4 o A dUT eI 8 2

A. g9 i yHE Ragidl @ wiftd & forg sifvsfeua @ |

B. WU 14 T4 ¥ WA R H&T3l & Ten o are 94 uleasHi & anfad sRarg |
C. Tagn il 1 Jad Hegie $Ral o 9 (Sl JaH PRl |

D. TI5 1} oafad fadt off =M iR 990 W s8@T i R I@od & |

9 fau e fasedl § T e Sugad SR &1 99 SHIfoIE:

1. PadAARC
2. HATA, C 3R D
3. %aA A, B ARD
4. HAAB AR C

1) 1

) 2

3) 3

@) 4

1[Option ID=40529] Question Description : general_paper_genarel paper_set 33_english_q8
2[Option ID=40530]
3[Option ID=40531]
4[Option ID=40532]

Sl. No.9
QBID:33201009




Which of the following is related to Learning - Centred approach of Education ?

1. Imposed
2. Authoritarian
3. Self-controlled
4. Autocratic
1)1
(2) 2
(3) 3
(4) 4

Fafafea g T o= O el Qe & sfrm Sfa 3urm I gefia g 2

1. AR

. M RaTet
.49 g
(1) 1

(2) 2

(3) 3

4) 4

Lo b2

i

1[Option ID=40533] Question Description : general_paper_genarel paper_set 33_english_q9
2[Option ID=40534]
3[Option ID=40535]
4[Option ID=40536]

Sl. No.10
QBID:33201010

Arrange the steps of project method in a sequence.

A. Purpose of the project
B. Providing a situation

C. Execution of the project
D. Planning of the project
E. Recording of the project
F. Evaluation of the project

Choose the correct answer from the options given below :
1.A,D,B,C,E,F
i

.D.B.A.E,F.C
F.E
F.B

=

B .-D.- C.-
C :D.-E.-

A Y]
o=

(1) 1
(2) 2
(3) 3
(4) 4

gRarer fofy & Fafefad oanl @f 96t s sy d crafud Sifve :

A. YRGS BT 35

B. [RUTd U &=

c. gRGIeH1 Si-au
D. GG &1 i

E. URGISHI BT SHeRa (Rep1rsm)
F. URGISH BT geich

= few o feedl @ O ORI 399 & 994 hIfaw:

1[Option ID=40537] Question Description : general_paper_genarel paper_set 33_english_q10
2[Option ID=40538]
3[Option ID=40539]
4[Option ID=40540]




Sl. No.11
QBID:33201011

In much of social research, the variables used are

1. Manipulable

2. Experimental

3. Non-manipulable
4. Deviational
1)1

(2) 2

3) 3

(4) 4

T5a-GR AT WY H FAfiad O 9 9 =9R1 o yged g1 &Il g 2

1. BadioE 9ig

2. YOS

3. IR-BadeE O g
4. foge TS

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=40541] Question Description : general_paper_genarel paper_set 33_english_q11
2[Option ID=40542]
3[Option ID=40543]
4[Option ID=40544]

Sl. No.12
QBID:33201012

The panel study has the issue of

1. Attrition
2. Single survey
3. Different variables
4, Inanimate objects
(1)1
(2) 2
(3) 3
(4) 4

U= 3feg= &l Hafiiad § 4 9T gEIgiaig

. &0 (USIRH)
TP Fdem
e
REEIGEES(Y
(1) 1

(2) 2

3) 3

(4) 4

e W b2

1[Option ID=40545] Question Description : general_paper_genarel paper_set 33_english_q12
2[Option ID=40546]
3[Option ID=40547]
4[Option ID=40548]

Sl. No.13
QBID:33201013

If respondents are offered an option of answering a questionnaire, for Example the postal questionnaire
respondents are given an option of answering by Web survey, it is called

1. Optional survey
2. Multiple survey
3. Selective survey
4, Mixed mode survey
(1) 1
(2) 2
3) 3
(4) 4




Tfe; ITRerars &1 Ue wHad & 3TR &1 Us [ddhed 3071 5TdT €, SaTevuny - S1% U YHad! & 91y 39
A& gRT 3R & & fdded g1, 1 58 a1 gl oal g 2

1. IP TP &
2. gg-fay adefor
3. TOAIETD FAUT
4. THIYA oRie &1 Hdefur
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=40549] Question Description : general_paper_genarel paper_set 33_english_q13
2[Option ID=40550]

3[Option ID=40551]
4[Option ID=40552]

Sl. No.14
QBID:33201014

Which of the following are the disadvantages of online research ?

A Online research is expensive.

B. Samples can be small and skewed.

C. There can be an excessive turnover of communication.
D. Technological issues may lead to inconsistencies.

E. Online participants are rigid.

Choose the correct answer from the options given below :

1.A, B, C Only
2.B,C.D Only
3.C.D. E Only
4. A, D.E Only

1) 1

(2) 2

3) 3

(4) 4

AT MY & FEEd 9 oY 3@y e 2

A SHTag MY HEMR |
B. Mfiel 7Y SR v g1 90 & |
C. 58 gEIY T il gREm 8l g g |
D. VRN O, SR &1 AF YR o 96d o |
E. 3@ widurf s gl g |
= fow ow [Oeedl & O O8 39¢ &1 934 Hifaw:

1.Pdd A, B, C
2. $ddB,C,D
3.%9dC,D,E
4. PAdA, D, E

(11

(2 2

(3) 3

(4) 4

1[Option ID=40553] Question Description : general_paper_genarel paper_set 33_english_q14
2[Option ID=40554]
3[Option ID=40555]
4[Option ID=40556]

Sl. No.15
QBID:33201015




Given below are two statements :
Statement I : The qualitative data analysis is governed by the codified prescriptions of quantitative data
analysis.

Statement II : Qualitative data analysis has many approaches, of which the grounded theory is important.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II is false.
4, Statement I is False but Statement II is true.

(1)1

(2) 2

(3) 3

(4) 4

BHUA [ - IUTaRes oE (3eT) ST ® AR a6 ASuT & dledas ueeEl (UNRRTeE) gy et
o S &

FHYF 11 : IOTIARS &4 AEue # 3% 3unE ¥, Swd smuR-faea #ecage ©
3L U @ HEs #, A G o faeedl # 8 "6l 39t s @ Hifag:
L.3y= 1 3R I = & ¥ |
2. @ 1 3R I g 38T § |

3.9 1 §cg &, ofehd o 11 38T § |

4. 797 [ 30T &, dfepd v 1 &ca & |
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=40557] Question Description : general_paper_genarel paper_set 33_english_q15
2[Option ID=40558]

3[Option ID=40559]
4[Option ID=40560]

Sl. No.16
QBID:33201016

According to the ancient Indian texts, the ultimate goal of both internal and external communication is

1. Achieving social status
2. Capturing political power
3. Self-realisation
4. Accumulation of wealth
(1) 1
(2) 2
3) 3
(4) 4

U YR 94T & S8R Maike 3R aTel SN0l H1 &1 A A5 18 2

. GrH1fSTe WiRid &1 e Bl
oA wifad &1 gfgmET
Al

. Y- &1 Ty

(1) 1

(2) 2

(3) 3

4) 4

R

1[Option ID=40561] Question Description : general_paper_genarel paper_set 33_english_q16
2[Option ID=40562]
3[Option ID=40563]
4[Option ID=40564]

Sl. No.17
QBID:33201017




According to Chanakya, communication flows from

1. The masses
2. The centre of power
3. The elitists
4. The Military
1 1
(2) 2
3) 3
(4) 4

TS & TR TS0 &1 FaTe e gian g 2

Sl
 Ofda-g
. JHfoTa arf
T

:b.t..ul..;l»—t

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=40565] Question Description : general_paper_genarel paper_set 33_english_q17
2[Option ID=40566]

3[Option ID=40567]
4[Option ID=40568]

Sl. No.18
QBID:33201018

Looking deep into the channels of communication iz described as

. Content analysis

. Audience analysis
. Control analysis

. Media analysis

B R S

1) 1
(2) 2
3) 3
(4) 4

JENU & HIFH BT T8 SiE-Usdid & 69 =9 § quiH fGar oarg 2

1. fawgay] fazeiy
2. HUES (HTeTH) fawyo
3. fe=ur faeiyor
4. wHifsan fazayo
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=40569] Question Description : general_paper_genarel paper_set 33_english_q18
2[Option ID=40570]

3[Option ID=40571]
4[Option ID=40572]

Sl. No.19
QBID:33201019

The humanistic approach to communication posits that

A. Behaviour is innate

B. Behaviour is concocted

C. Behavioural changes originate from the inner self

D. The reward-punishment technique for behavioural change is short-lived.

E. Communicative techniques focus only on paralinguistic messages, for behavioural change

Choose the most appropriate answer from the options given below :




3) 3
(4) 4

TEN0 $ SR T O SINTH F1-991 I 8 2

A TIGER YgEd elal g |

B. 0JG8R AEd elar g |

C. TagR-YRac idN®-1 4 3g4d gld © |

D. Td8RId URadH & fau wikdifve - Sus do-iid GUHIR BIdl ¢ |

E. GEINUES dP-10, IaeiTd Uiaa & [T Hae e ol G391 U2 &I $fsd S & |
== U 9w faehedl & @ Ha 3UGH SAL @ 98 HiTaig:

1.%dd A, B, C
2. %ddB.C,D
3. %9AC,D,E
4. $dd A, C.D

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=40573] Question Description : general_paper_genarel paper_set 33_english_q19
2[Option ID=40574]
3[Option ID=40575]
4[Option ID=40576]

Sl. No.20
QBID:33201020

Given below are two statements :

Statement I : In terms of communication, the dominant interests of a larger culture will form the image of
minority audiences.

Statement IT : The medium of television is often considered as a new religion.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but Statement IT is correct.
(1)1
(2) 2
(3) 3
(4) 4

FUFT [ . TN & TeH # T geck TEPpid & Uad Tod FeUaEds HTaTeH & G o &Harer iy |

I

HYUT I - ecohifaala & ARTH Al UE: Th a9 99 &9 & A0 Fidr o |

SURITH AT & 3eles A, A= few aw fadedl @ Had 3Ud Sad T T it
Leaa IR n g &8 € )

2.9 I 3K I &1 g §
3.5y [ @9 &, dfbd Dy II 7ol & |

4. 9 [ 7T &, ofthe] S I F9 & |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=40577] Question Description : general_paper_genarel paper_set 33_english_q20
2[Option ID=40578]

3[Option ID=40579]
4[Option ID=40580]

Sl. No.21
QBID:33201021




« Loy . s : |
An amount deposited at 5% simple interest becomes Rs. 1512 in 4 years. How much the same amount will become in 25 years at 10%

simple interest per annum ?

.2 1.475
.T1.575
. 1,675
.2 1.875
(1)1
(2) 2
(3) 3
(4) 4

Tl 5% FILRUT ST BT = T OIHT DI TS BIS - MR 4 T8 H 1512 39T 1 W1l &, al 10% AT JIERU 416 &1 &3 9 dal YA
gé.atﬁiiﬁﬁﬂ?ﬁEﬁGﬂﬁfﬁ?

da s bo —

.9, 1,475
%, 1,575
.. 1,675
.9, 1.875
(1) 1
(2) 2
(3) 3
4) 4

=2 —

SR ]

1[Option ID=40581] Question Description : general_paper_genarel paper_set 33_english_q21
2[Option ID=40582]
3[Option ID=40583]
4[Option ID=40584]

Sl. No.22
QBID:33201022

What number would replace question mark (7) in the series given below 7
1,4,3,5,6,9.13, 20,31, 2

1. 49
2.51
3.47
4. 45
(1)1
) 2
3) 3
(4) 4

1 €1 T2 gaen § S Al W= uyaE® [ (2) B iaRitd sl 2
1,4,3,5.6,9, 13,20, 31,2

.49
.51
.47
.45
(1)1
(2) 2
(3) 3
(4) 4

P

1[Option ID=40585] Question Description : general_paper_genarel paper_set 33_english_q22
2[Option ID=40586]
3[Option ID=40587]
4[Option ID=40588]

Sl. No.23
QBID:33201023

The average weight of six members of a family is 30 ke. If the head of the family is not considered, the
average weight of the rest of the family members is 5 kg less than the earlier average. Find the weight of the

head of the family.

il

11




) 2
3) 3
(4) 4

T Yol ard for<it ufkaR &1 offad o 30 f5an § | afg oRaR & CIRUEREHREZ & G|
GRER & XY &l BT 31Hd goi-1 9d & {19 3§ 5 [b91 &1 g1 oiidl & | dl URaR & g8l o1 ae- F1d

da o k2 =
3 (=33
- o

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40589] Question Description : general_paper_genarel paper_set 33_english_q23
2[Option ID=40590]

3[Option ID=40591]
4[Option ID=40592]

Sl. No.24
QBID:33201024

In a certain code language 'Black’ is coded as '1131122". How 'White' will be coded in that language ?

. 5200832

. 2380025
3.5209823
4. 5208923

(1)1

(2) 2

(3) 3

(4) 4

13 el e U & &l ua Ul & 11131122 % U H e (gl TS | Al SHl U H Sy U 35 <1 8 Pl vl Peds
faa ST 2

2 =

. 5200832
. 2389025
. 5209823
. 5208923
1)1
(2) 2
3) 3
(4) 4

o —

. V)

1[Option ID=40593] Question Description : general_paper_genarel paper_set 33_english_q24
2[Option ID=40594]
3[Option ID=40595]
4[Option ID=40596]

Sl. No.25
QBID:33201025

If the numerator and denominator of a fraction are increased by 7. then fraction becomes 2/3. Find the original
fraction.

ik e
=

Lh o W L
0o Lh Lh

a Laa

1) 1
) 2
3) 3
(4) 4

afe ool i & o SR &R H 7 1 i g ol 8, ot ot 2 g sl © | et et e g |

L |k

| el
B ds
L3 0o LA LA

ER )
Ln

@ 1




(2) 2

3) 3

(4) 4

1[Option ID=40597] Question Description : general_paper_genarel paper_set 33_english_q25
2[Option ID=40598]

3[Option ID=40599]
4[Option ID=40600]

Sl. No.26
QBID:33201026

"You really must try out to be selected in the basketball team because my uncle who teaches philosophy says
that vou have a real potential”. Identify the logical fallacy committed in the above argument.

1. Hasty Generalisation
2. Appeal to Inappropriate authority
3. Ad hominem
4. Begging the question
(1) 1
@) 2
3) 3
4) 4

"HTOh! SRGedd &1 10 § 9ai4d 814 & (070 YO 3/a9g ©AT 91U adifd SH-ed UgH ard 3
T 1 B ¢ (o SMIH U aRaide S ¢ 1" S9dad gfdd § difde 319 B ggaH Sifud |

1. TAIRT RIS
2. U UIYPR 3198
3. ofiad 199 & foiy (TSeii-m)
4. TSI S
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40601] Question Description : general_paper_genarel paper_set 33_english_q26
2[Option ID=40602]
3[Option ID=40603]
4[Option ID=40604]

Sl. No.27
QBID:33201027

Which of the following statements are so related that if one of them is true the other must be false and vice-
versa 7

A. All human beings are mortal.

B. Some human beings are mortal.

C. Some human beings are not mortal.
D. No human beings are mortal.

Choose the most appropriate answer from the options given below :

A and C Only

. B and C Only
3. Cand D Only
4. Aand D Only

(1) 1

2) 2

(3) 3

4) 4

b=




FafREd d 4 &1F 4 Y- 39 o 3 96i9d ¢ [P 316 90 3 U 9 5idl 8, df gusl Sadd =4 4
3 U4 39& fquiid g1 91U 2

AR T AREAE |

B. 38 AU AT § |

C. PO AU TR eI 6ld & |
D. B HI I TR TSI € |

= few e Taspedl O Tl 3Ud 3AY @l =9 hIag:

1. HFaAAIRC

2. PaAB AR C

3.%ad C AR D

4. $ad A MRD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40605] Question Description : general_paper_genarel paper_set 33_english_q27
2[Option ID=40606]

3[Option ID=40607]
4[Option ID=40608]

Sl. No.28
QBID:33201028

Which of the following statements is logically equivalent to the statement - "No plants are murderers” ?

1. No plants are non-murderers.
2. No murderers are plants.
3. All non-murderers are non-plants.
4. Some non-murderers are not non-plants.
1) 1
(2) 2
3) 3
4) 4

e & ¥ HF W Y dlihe 0 9 58 $UT $ T ¢ - "Pls H T80 5RT T g™

1. @5 1t 916U R-EART 781 8T © |
2. s 1 AR UIGU T BT 2 |
3. 9ufi IREAR IR A € |
4, P9 REAR RUCTTE S |
1) 1
(2) 2
3) 3
4) 4
1[Option ID=40609] Question Description : general_paper_genarel paper_set 33_english_q28
2[Option ID=40610]

3[Option ID=40611]
4[Option ID=40612]

Sl. No.29
QBID:33201029

"T just cannot believe it! Mr. Suresh cannot be guilty of murder since there iz no way Mr. Suresh could kill
someone”. Which fallacy is committed in the above argument ?

. Slippery slope

. Begging the Question
3. Ad hominem

4. Equivocation

ba =

(1)1
(2) 2
3) 3
(4) 4




H 59 9 i [y =8 o g&dn ! aﬁ@ms@wmﬁﬁwﬁ%WWﬂﬂ@ﬁﬁ
o<l 1 AR 761 9ddl |" ITad gfckd H S ddb-a/y § 2

1. T aegad gar
2. ST &Y
3. ogfed oIy o ferg
4. 3D

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=40613] Question Description : general_paper_genarel paper_set 33_english_q29
2[Option ID=40614]
3[Option ID=40615]
4[Option ID=40616]

Sl. No.30
QBID:33201030

According to classical Indian school of logic., knowledge resulting from prior knowledge of invariable concomitance between two objects
is called ?

1. Arthapatti
2. Anumana
3. Upamana
4, Anuplabdhi

1)1

2) 2

3) 3

(4) 4

YR QR dab B o SR & aai & T8 HURGd-Ia FgMihdl & gd 31 9 309 19 &I 1 $el ol § 2

. Uil

SIIHA
SRR

E RIS

| S I

L

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40617] Question Description : general_paper_genarel paper_set 33_english_q30
2[Option ID=40618]

3[Option ID=40619]
4[Option ID=40620]

Sl. No.31
QBID:33201031

A computer is used to store photographs and videos. The average size of each photograph is 8 MB and the
average size of each video is 400 MB. How much memory (in gigabytes) is needed to store 800 photographs
and 80 videos ? (1 KB = 1024 Bytes)

-1

ih ba Lh Lh
o L

-]

oD
L L e Lo
<3 b

(1) 1

2 2

(3) 3

(4) 4

TS $HUeR &I 97 9 difsdl 1SR & fu vai (a1 9a1 § | 9de 93 &1 3i6d S$R 8 THdl d Jdd
ISl &1 39T AMHR 400 THE € | so0 f=1 9 so difsd & visrRo & fau fg O 9 forat 20
@imarge o) B raegedr gl 2 (1 ddl = 1024 §150)

1.3.75
2.4.75
3.34.25
4.37.50
1)1
(2) 2

3) 3




(4) 4

1[Option ID=40621] Question Description : general_paper_genarel paper_set 33_english_q31
2[Option ID=40622]
3[Option ID=40623]
4[Option ID=40624]

Sl. No.32
QBID:33201032

In about 1945, who among the following developed the idea of a stored program computer ?

1. John Von Neumann
2. Tim Berners Lee
3. Blaise Pascal
4. N.R. Narayanamurthy
1 1
@) 2
(3) 3
4) 4

i R . SR i

Ty 1045 & I, FEfAET 3 9 e Jeia W $ex & [GaR &l fae e far o410

S aF A
fegaidh
&5l g d

T, 3R, ARO[
(1) 1

(2) 2

(3) 3

4) 4

L b2

1[Option ID=40625] Question Description : general_paper_genarel paper_set 33_english_q32
2[Option ID=40626]
3[Option ID=40627]
4[Option ID=40628]

Sl. No.33
QBID:33201033

Which of the following communication systems provides a means of sharing and collaboration by allowing a
group of people to enter, modify and contribute one or more pages of related text ?

1. Wiki
2. Email
3. Podcast
4. RSS feed
1 1
) 2
3) 3
(4) 4

fafdRad @ 9 &9 U 99R Jone afdadl & Ue 9Ug &1 Saiid 96 & U a1 31U gyl & 4iap,
STENTAT 3 TRTEH @3 B SFE & B I3 H- d TehR & GIe= UgH BRIl § 2

1. faat
2,309
3. UISHRE
4. SIRTHLH Bis
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40629] Question Description : general_paper_genarel paper_set 33_english_q33
2[Option ID=40630]
3[Option ID=40631]
4[Option ID=40632]

Sl. No.34
QBID:33201034




Given below are two statements :
Statement [ : EEPROM stands for Electronically Extendable Programmable Read Only Memory.

Statement IT : RAM is much faster to write or to read from than other types of memory; but its main drawback
18 its non-volatility.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is False but Statement II is true.

(1)1

(2) 2

(3) 3

(4) 4

FUF [ : STUFRIITH & QU §U © Soigel Hdel teacsad diaead {5 A= #A |

HUF 11 - AART & 3T UBRT DT & XA (IRTTHA) @ 3@ ugs & e 3w g g ¥ Weg K-
FEURUT SHH Th UHE Fl T |

IR ®AAT & ATl &, a4 Bw or Aeedl 3 O I8 SR & 994 Hifeg:

1.y I T I &1 99 ¥

[

e 1 3R 1 et e ©

LFS)

LU 1 90 &, ofea Fue 1 3acT

4. 597 [ 30T &, dfeh 99 I @ca ¥
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=40633] Question Description : general_paper_genarel paper_set 33_english_q34
2[Option ID=40634]

3[Option ID=40635]
4[Option ID=40636]

Sl. No.35
QBID:33201035

Which of the following statements about email address spoofing are TRUE ?

A. E-mail address spoofing is copying an email to other staff.

B. E-mail address spoofing is used for hacking

C. E-mail address spoofing is the forgery of an email header or sender information
D. E-mail address spoofing is sending a joke email to other staff.

Choose the correct answer from the options given below :

1. Aand B Only
2.B and C Only
3. Cand D Only
4. Aand D Only

(1) 1

(2) 2

(3) 3

(4) 4




SHT UgH Wt (1 <) & day H Fafaf@d § 4 &H 4 Sy 9e1 6 2

A SHT UG W07 1 37 § GHL W% Bl 49 &) Uid UoT

B. 500 Uo ¥ Wt &1 WA 9] (8 & o fean S g |
C. SA U W71 $Aa < Srerat Y Y1 3 wirerrl €1l & |
D. 350 Uod W7 310 W6 Jadl B Fulliddl gid Hor oil § |

= 2w o faeedl @ O OEL 3OE @ 994 A

1. $ad AR B
2.%aaB AR C
3.%ad C 3R D
4. HATAARD

1) 1

) 2

3) 3

@) 4

1[Option ID=40637] Question Description : general_paper_genarel paper_set 33_english_q35
2[Option ID=40638]
3[Option ID=40639]
4[Option ID=40640]

Sl. No.36
QBID:33201036

Which of the following are water borne bacterial diseases ?

A. Cholera

B. Hepatitis

C. Typhoid

D. Schistosomiasis
E. Dysentery

Choose the most appropriate answer from the options given below :

1. A, B and C Only
2.B, Cand D Only
3.A CandE Only
4. A, D and E Only

11

(2) 2

(3) 3

(4) 4

FafafEa o ¥ o saed siaivas diaiai g 2

A. BT

B. gUcsicd

C. HFed?

D. Rrergftaayg
E. Ui

= gu aw faeedl # & Had 3UYd 3L @B G DHITSAT:

1. HAAA, B 3R C
2. %adAB, C ARD
3. PaTA, C HRE
4. $AAA, D ARE

) 1

) 2

@3) 3

@) 4

1[Option ID=40641] Question Description : general_paper_genarel paper_set 33_english_q36
2[Option ID=40642]
3[Option ID=40643]
4[Option ID=40644]

Sl. No.37
QBID:33201037




Given below are two statements : One is labelled as Assertion A and the other 1s labelled as Reason R,

Assertion A : Beneath the surface horizons, the subsoil, usually have a lower organic content and higher
concentration of mineral particles.

Reason R : Subsoil iz generally made up of weathered rock fragments.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is NOT the correct explanation of A.
3. Ais correct but R is not correct.

4. A is not correct but R is correct.

) 1
) 2
(3) 3
(4) 4
=t 2 B e oiw §: ue HiWeus (Asseﬁion)Aaﬁmﬁﬁﬁ:@H%ﬁq\qﬂmw (Reason) R &
O H:

[ S

3R A - Ode (SIdel) TEaU & 49, 30 & gdeaad e Tl W ddfas & A3 gf@a woft
FT ToT Tehgol UTar AT § |

HRUT R - 3USET AAEAd: FUSTHEd geo @si ¥ =g ol &
STHIF TUAT & Hiee #, 1 By 7w fUEedt # ¥ TEW 3UNE I o 90 ST |

1.A 3T R o=t = & iR R, A T w8 oo B
2.A 3R R S @ € afsa R A of carer a9
3.A §8 ¢ @A R T a9 ol

4. A W8 A & AT R TE &
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=40645] Question Description : general_paper_genarel paper_set 33_english_q37
2[Option ID=40646]

3[Option ID=40647]
4[Option ID=40648]

Sl. No.38
QBID:33201038

Which one of the following is a secondary aerosol ?

1. Sea salt
2. Mineral particles
3. Black carbon
4. Sulphate particles
1) 1
(2) 2
3) 3
(4) 4

frafafaa & S o @ fidoe ag foaa @ 8 2

1[Option ID=40649] Question Description : general_paper_genarel paper_set 33_english_q38
2[Option ID=40650]
3[Option ID=40651]
4[Option ID=40652]




Sl. No.39
QBID:33201039

Hazardous waste is liquid or solid that contains substances known to be

A Fatal to humans or animals only at high doses
B. Toxic, carcinogenic or mutagenic to humans
C. Ignitable even at temperatures less than 60°C
D. Non-reactive

E. Corrosive

Choose the most appropriate answer from the options given below :

A, Cand D Only
.B. C and E Only
.B. C and D Only
.C.D and E Only
1)1
2) 2
(3) 3
(4) 4

Tependt 3Oy ava a1 319 giar &, forad gaifay ueiuf &t fbg Sy F @ oar s 2

A. a0 I AP o IR A4 R U=[H & [ bra® gid § |

B. B4 & T8 [a9Tad, S=RoHed a1 3diRadei] (ReTol-=d) 8id § |
c. 60 fETft §s @ py R ot SHTRi@ EIa § |

D. sFfufaia

E. J&R®

A= Gu o fawredl & § Had 3ugd 3L @ 9T HITrg:

1.%Had A, C 3R D
2. %dd B, C ARE
3. %gdB, C IR D
4.%AAC, D IRE

1 1

() 2

@3) 3

@) 4

e O D =

1[Option ID=40653] Question Description : general_paper_genarel paper_set 33_english_q39
2[Option ID=40654]
3[Option ID=40655]
4[Option ID=40656]

Sl. No.40
QBID:33201040

An Eutrophic lake

A is rich in nutrients

B. is poor in organic matters

C. has high algal blooms

D. is rich in dissolved oxygen

E. has no issue with survival of fish and other aqualic life

Choose the most appropriate answer from the options given below :

1. A, B and C Only
2.C,D and E Only
3. Aand C Only
4. B and D Only
1) 1
(2) 2
(3) 3
(4) 4




T garof sita -

A UIYS ddl § S el g |

B. ¥ 3{eq Sifdd Tarf §1d & |

c. ¥ 3= JaTeig IR gl & |

D. & eifRfivH & T g1t 2

E. H5dl @t STeiiadr 3R 30 Sy oila- (Uehied ash) § ®ig 9a ol sial |

A fqu a7 fawedl & @ HaQ 3UYH IW A FIT HifT:

1.HAAA, B 3R C
2.%dd C, D AR E
3. PaAANRC
4. %aaB AR D
1

() 2

3) 3

@) 4

1[Option ID=40657] Question Description : general_paper_genarel paper_set 33_english_q40
2[Option ID=40658]
3[Option ID=40659]
4[Option ID=40660]

Sl. No.41
QBID:33201041

In the context of higher education, National Education Policy 2020 has emphasized the need for

1. Discipline specific regulators
2. Free education
3. Fragmentation
4. Internationalisation
(1) 1
(2) 2
3) 3
(4) 4

= TRia1 & el H, gt fRiaf ifd 2020 F FafaRed 1§ 9 foae! snazged R aq fearmie 2

1. fowg faflew Fame
T:ggeaD e
ﬁ. :

oo

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40661] Question Description : general_paper_genarel paper_set 33_english_q41
2[Option ID=40662]

3[Option ID=40663]
4[Option ID=40664]

Sl. No.42
QBID:33201042

Which of the following are major characteristics of Good Governance ?

A. Tt is consensus - oriented.
B. It is accountable.

C. It is Opaque.

D. It is inclusive.

E. It is autocratic.

Choose the correct answer from the options given below :

1. A, B and D Only
2. Aand D Only
3.B and E Only
4. B, C and E Only

(1) 1

(2) 2

(3) 3

4) 4




Fafarad O ¥ gRme= 1 &1 d 99 [GYvan § »

A. T8 Ga9Efa-SE §1ars |
B. U8 GIAI93E (SRS BT R |
C. T8 IR g1 g |

D. g GHIEAY BT ® |

E. U8 PR garg |

= fow ow [Oeedl & O O8 39¢ &1 934 Hifaw:

1.$aA A, B IR D
2. HAAA AR D
3. %au B ARE
4. %AdAB, C ARE

1

) 2

3) 3

(@) 4

1[Option ID=40665] Question Description : general_paper_genarel paper_set 33_english_q42
2[Option ID=40666]
3[Option ID=40667]
4[Option ID=40668]

Sl. No.43
QBID:33201043

Some important recommendations of the Kothari Commission were :

A Establishment of clusters of advanced centres in major universities
B. Abolition of the system of affiliate colleges

C. Abolition of continuous evaluation system

D. Establishment of six major universities

E. Improving quality and content of lecturing

Choose the correct answer from the options given below :

1. A, B. C Only
2.B.C.D Only
3.C. D, E Only
4. A, D, E Only

1) 1

(2) 2

3) 3

4) 4

BIBRI 3G 1 S Heayu! SRE df :

A. T [Ayfaenedl & S9d a5l (USaRs dcd) 31 ST
B. Hag Helldeard] &f Yureil &1 3=

C. Fdd Hedic- YUITdl 1 I

D. B8 UHd fayfaead of =g

E. SR 1 7[Urdl 9 fqugasd O guR

= Bw o faweal & ¥ TRl 30X & 994 dlla:

1.%dd A, B, C
2. %ddB.C,D
3.%9dC,D,E
4. $dd A, D,E

1) 1
) 2
(3) 3
(4) 4

1[Option ID=40669] Question Description : general_paper_genarel paper_set 33_english_q43
2[Option ID=40670]
3[Option ID=40671]
4[Option ID=40672]

Sl. No.44
QBID:33201044




During the Vedic period, the higher level of education had

1. Professional curriculum
2. General curriculum
3. Specialised curriculum
4. Technical curriculum
(1)1
(2) 2
(3) 3
(4) 4

afe® ora 6, Sy e smenfa ot :
1. TETIeE grea=al 1%

1[Option ID=40673] Question Description : general_paper_genarel paper_set 33_english_q44
2[Option ID=40674]
3[Option ID=40675]
4[Option ID=40676]
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Which among the following is/are not a criteria for quality assessment followed by NAAC :

A. Teaching -learning and Evaluation

B. Consultancy and Extension

C. Infrastructure and Learning Resources
D. Recruitment of Teaching Professionals
E. Governance and Leadership

Choose the most appropriate answer from the options given below :

1.D Only
2.A,BandD Only
3.B.C & E Only
4. B Only

(1) 1

(2) 2

3) 3

4) 4

% (NAAC) GRI UG & HH T 5 SHUISH [l o= aTel AFES Haraiad 3 9 $H W8 /6 ?

A RIS T SR Hegie
B. WHR &1 3R JER

C. 3aIREA1 g Sferm dareE
D. e il o1 Fgfed

E. T T4 Add

= Gu o faereul & & Had 3Ugw 3L @B GG DHITSAT:

1.%dd D
2. BATA, B IRD
3. %94 B, C AR E
4. PddA B
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=40677] Question Description : general_paper_genarel paper_set 33_english_q45
2[Option ID=40678]

3[Option ID=40679]
4[Option ID=40680]
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Read the paragraph given below and answer the question.

At home the post-pandemic normalisation has spurred a renewed demand for imported inputs. But abroad, it
has had the opposite effect, leading to a decline in demand. Foreign house holds are no longer demanding so
many goods now that the lockdowns that kept them in their houses and the fiscal stimuli that gave them the
money to spend have both ended. So, India's imports have soared just at a time when its merchandise exports
have started to fall.

Foreign demand will slow further as advanced countries slip into what now seem like inevitable recessions.. In
that case, India's Current Account Deficit (CAD) could widen even further, possibly to four percent of GDP in
2022-23 - double the level that the Reserve Bank of India (RBI) traditionally regards as "safe". How should
India respond ?

One possibility would be to attract foreign capital inflows worth at least four percent of GDP. But is this
realistic 7 The world is currently facing unprecedented levels of uncertainty. After two years of the pandemic,
we are witnessing a land war in Europe, the highest inflation in the developed world in the last four decades,
the fastest pace of interest rate hikes in the history of the US Federal Reserve, an energy crisis in Europe, and
slowdown in China that continues to struggle with Covid-19.

In such an uncertain environment, foreign investors prefer to invest in safe assets such as US government
bonds rather than emerging markets like India.

I fau e e &t ufeu SR Y &1 SR oy |

TG TR R AETERT & UHTd & 9 RUT = Sifad STl $t 9digd 17 &1 IRk [ar g | g
= . 9o fausid uya ust & o gad T 8 fRiae ol § | 133=l e sy (IRAR) s
3% T3 B AT To] B G & FI P AlD SIS [o1Ieh Fad 35 30 TRI § 61 IS SR IAedg
SEIUS oI 3 @4 oq o7 SUas BIA1, 98 3fd & GHIW 8 741 § | SHAY ofd YR & qug Haidl
¥ IRTge 3RY B3 ©. 94 4! 99d 1 39% 3d 3 S8Td SIS |

S O fam R 1 SraiReTe T € X6 el BT SR 9 X8 ¥ a9-0% fas i o siiel gieht s |
S T 1, YRd &1 91 @Il 912 (HUST) 3R S ay 2022-23 T G O SdIE & 4 WiA=Id &1 I
A% 5 Fod] §, Sl R Resid 3 & R1 IRIRITE a1 ¥ "GRIAE" Y98 o aTe &R BTG S |
HRd &1 forg ueR T wiafear ¢ =nfgu 2

TP HUIGAT 1 U8 ¢ [ Yo d OXq SAIG & HH I B 4 Ufdd a (a4 3l ol S o1 s iid faar
ST | fopeg o wg TR § 2 fay adum & sramyRo &R #t s fEaa STIam e w1 R | IRt
& gl avl & a8 59 R 1 Y4, Ued IR a9e! 1 [doid <=1 ¥ 9aiiye Jarpii, Jud hexd Red
& faerd 1 o7l & JoTdl H digdd Td, 230 8 FHoll de SR MR did | $iids-10 & e d o
WA A A & e § |

TSR & fq aree H, e Fawe, HRd & 99 W 5 INIRT 31 SfUe JU9 RPN 1S Sl
Ri&a aigufa 8§ o ol adgar Sd € |

Given below are two statements :

Statement I : In the post-pandemic period. demand for goods has picked up both in India and abroad.
Statement I : Covid-19 pandemic is still not over in China.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement [ is true but Statement II is false.
4. Statement I is False but Statement II is true.

(1)1

(2) 2

3) 3

(4) 4




e g e fw o §
I . AEEAR &lel & T, AR AR By, gt & aegat f & & 3o a3 ¥
HUF 11 - HIG5-19 Feremd e oF 3eh off Fomm a8 5 % |
SR HYAT & ARF A, A BT 0T fOwedt 7§ O8I @& T S
L. &u= 1 3R 11 g |7 I

2. @y I 3R I gt sraca €

3. %99 [ 5cg & aftha @94 11 39T &1

4. FU9 [ 39T S, AT F99 11 97 51
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=40681] Question Description : general_paper_genarel paper_set 33_english_q46
2[Option ID=40682]

3[Option ID=40683]
4[Option ID=40684]
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Read the paragraph given below and answer the question.

At home the post-pandemic normalisation has spurred a renewed demand for imported inputs. But abroad, it
has had the opposite effect, leading to a decline in demand. Foreign house holds are no longer demanding so
many goods now that the lockdowns that kept them in their houses and the fiscal stimuli that gave them the
money to spend have both ended. So, India's imports have soared just at a time when its merchandise exports
have started to fall,

Foreign demand will slow further as advanced countries slip into what now seem like inevitable recessions.. In
that case, India's Current Account Deficit (CAD) could widen even further, possibly to four percent of GDP in
2022-23 - double the level that the Reserve Bank of India (RBI) traditionally regards as "safe". How should
India respond ?

One possibility would be to attract foreign capital inflows worth at least four percent of GDP. But is this
realistic ? The world is currently facing unprecedented levels of uncertainty. After two years of the pandemic,
we are witnessing a land war in Europe, the highest inflation in the developed world in the last four decades,
the fastest pace of interest rate hikes in the history of the US Federal Reserve, an energy crisis in Europe, and
slowdown in China that continues to struggle with Covid-19.

In such an uncertain environment, foreign investors prefer to invest in safe assets such as US government
bonds rather than emerging markets like India.

T U U e & Ofeu iR Uy & SR oy |

T TR U HETHRI & UYTd &1 IHR1 R = sranfad smrdl $1 9digd 1 &1 Uka [$an g | fag
9= ¥, e fousia WHTd UsT & o gad 3 § fRiae Sl § | 332l e suyiedr (IRaR) 3@
3 TS B T Te] PR 3T § FID AT SIS oRId dard 376 S0 BRI H 351 TS 3R I
SEIT® o 3 @ og Y9 ST HII], T8 349 gHI UG 81 T § | ST 9E YRd & gug fFafdf
T IRTae 3RY B3 §. 94 94! 99d 1§ 39% 1d 3 S8Td S g |

o8 S g g S emfverd udid 81 €l 6l &1 3iR & 32 © 99-39 fageh aiv am o gidt omwht |
39 R, YRT &1 979 @il 97eT (HUSh) SR SR ¥ 2022-23 § Tl O 3G & 4 Fi=ra & 431
A% 96 Yodl ©, Sl YR Rsid 3 & gRI RIRITd a1 A "GRIAG" G98) of a1d €k BIGAIS |
HRd &1 forg ueR § widfea & =g 2

U HYTGHT dl U8 § [ G Bie] SdIg & & 4 HF 4 YIawd da [a3 =i goit ST &1 s iid faan
WY | fae] 1 98 TUTIRS 3 2 9% a9 § SR KR &1 ST &1 9r9-1 $R 8 ¢ | HeMRI
% 31 a1 P 1% & IR ¥ -G, e IR TR 1 fGefid 31 3 waifus qRRpii, 98 He fod
& gfaerd 1 oTel & JoTdl H digad Tid, 230 T FHell 9oe SR FRaR i ¥ $iids-10 & doe 4 o
BRI A A S e g |

U YPR & AFET AEid 4, (942 Faws, YRd & o 34Rd g2 SI9R1 1 SHU&T JUd BN 1S ol
RI&d gREuREl ¥ a9 Sl akiidi &d g |




What level of current account deficit is considered 'safe’ by RBI in terms of percentage of GDP ?
1.2%
2.3%

A8
S0
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N ]

1)1
(2) 2
3) 3
(4) 4
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1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40685] Question Description : general_paper_genarel paper_set 33_english_q47
2[Option ID=40686]

3[Option ID=40687]
4[Option ID=40688]

SI. No.48
QBID:33201048 ] .
Read the paragraph given below and answer the question.

At home the post-pandemic normalisation has spurred a renewed demand for imported inputs. But abroad, it
has had the opposite effect, leading to a decline in demand. Foreign house holds are no longer demanding so
many goods now that the lockdowns that kept them in their houses and the fiscal stimuli that gave them the
money to spend have both ended. So, India's imports have soared just at a time when its merchandise exports
have started to fall.

Foreign demand will slow further as advanced countries slip into what now seem like inevitable recessions,. In
that case, India's Current Account Deficit (CAD) could widen even further, possibly to four percent of GDP in
2022-23 - double the level that the Reserve Bank of India (RBI) traditionally regards as "safe". How should
India respond ?

One possibility would be to attract foreign capital inflows worth at least four percent of GDP. But is this
realistic ? The world is currently facing unprecedented levels of uncertainty. After two years of the pandemic,
we are witnessing a land war in Europe, the highest inflation in the developed world in the last four decades,
the fastest pace of interest rate hikes in the history of the US Federal Reserve, an energy crisis in Europe, and
slowdown in China that continues to struggle with Cowvid-19.

In such an uncertain environment, foreign investors prefer to invest in safe assets such as US government
bonds rather than emerging markets like India.

4 f3U 71U T 31 9feT SR 7y FT SR Sifor |

T TR UR HeTHRI & UYTd &1 9HR1 R = st simal $1 9digd 1 &1 URka [San g | g
4= . e fausid wqTa us ¢ o gad T 8 fRiae ol § | 34=l eRe-suyiedl (IRAR) 3@
3% T3 B AR Tl B I8 § Fi1d Al SIS (oI Fad 38 U BRI H ¥81 Us] 3R sy
SEIUS ol 3 @d o oF SUae BIA1, 98 3fd a1 9HIW g1 741 § | SHiaY ofd YR & qug Haidl
T fIRTGC SRY g5 5. 79 94 959G & 39 3Id § SoTd g |

ﬁﬁwwmma@ﬁﬁmm@%%ﬁwmmwwm|
39 R 1, YR 1 91 @Il 112 (HTUST) 3R S ay 2022-23 T Gl O @8 & 4 Wia=Id &1
A 96 Yebdl 8. ol HRAT o 8o & gRI TORATd a1 & "R TH o Il TR BTG & |
YR Pl o8 YR & ufdichar &1 91iey 2

TP UG 1 98 © [ Govd 93¢ SEIG & HH I B 4 HIT=d ae (G330 Ueil S o1 sepita faar
S | Tor 91 g GRS © 2 [0 a0 § SURU KR &1 ST o1 9= R 36 6 | HeHR!
& 1 9yl & 918 51 WY 1 YIS, Ued IR 9! 1 [doid <2 ¥ 9aiide garpiid, gud Beed Red
& faerd & &7l &R 3aTal 4 digdd Tid, I 8 Sl doe SR MR ke J $iids-10 & dde 4 o
AT I S e g |

SHUBR & A Aeia H, faesi FHaw®, URd & 99 1R 50 9NIRI 31 S{Ue Jud PR as ot
FRI& uREuREl § e Sl sligarad ¢ |




The world is facing unprecedented uncertainly because of

A. war in Europe

B. high levels of inflation in developed countries
C. energy crisis in Europe

D. fast pace of interest hikes in US

E. normalisation after the end of pandemic

Choose the most appropriate answer from the options given below :

A. B, Cand D Only

.B.C.Dand E Only
3.A.C.DandE Only
4.A.B.C,DandE

(1) 1

@) 2

3) 3

(4) 4

&%y sryaqd 3ifAfEdar o T 9 38T © it -

ARUHE IS IAICS |

B. fdoyd <2l # urRwifd &1 3= TR
C. WU H Gl ddhe

D. Jud ¥ 15 39T H dig 7fd

E. HeMRI §H1G 811 & 91 9 Rufd

4 fau e faeedt # ¥ e Sugad SR &1 99 BHIfoie:

1.HAA A, B. C AR D
2. %90 B, C. D ARE
3. %AW A, C,D R E
4.A,B.C,D3RE

@ 1

() 2

3) 3

@) 4

[

1[Option ID=40689] Question Description : general_paper_genarel paper_set 33_english_q48
2[Option ID=40690]
3[Option ID=40691]
4[Option ID=40692]

Sl. No.49
QBID:33201049




Read the paragraph given below and answer the question.

At home the post-pandemic normalisation has spurred a renewed demand for imported inputs. But abroad, it
has had the opposite effect, leading to a decline in demand. Foreign house holds are no longer demanding so
many goods now that the lockdowns that kept them in their houses and the fiscal stimuli that gave them the
money to spend have both ended. So, India's imports have soared just at a time when its merchandise exports
have started to fall.

Foreign demand will slow further as advanced countries slip into what now seem like inevitable recessions.. In
that case, India's Current Account Deficit (CAD) could widen even further, possibly to four percent of GDP in
2022-23 - double the level that the Reserve Bank of India (RBI) traditionally regards as "safe". How should
India respond ?

One possibility would be to attract foreign capital inflows worth at least four percent of GDP. But is this
realistic 7 The world is currently facing unprecedented levels of uncertainty. After two years of the pandemic,
we are witnessing a land war in Europe, the highest inflation in the developed world in the last four decades,
the fastest pace of interest rate hikes in the history of the US Federal Reserve, an energy crisis in Europe, and
slowdown in China that continues to struggle with Covid-19.

In such an uncertain environment, foreign investors prefer to invest in safe assets such as US government
bonds rather than emerging markets like India.

I fau e e &t ufeu SR Y &1 SR oy |

TG TR R AETERT & UHTd & 9 RUT = Sifad STl $t 9digd 17 &1 IRk [ar g | g
= . 9o fausid uya ust & o gad T 8 fRiae ol § | 133=l e sy (IRAR) s
3% T3 B AT To] B G & FI P AlD SIS [o1Ieh Fad 35 30 TRI § 61 IS SR IAedg
SEIUS oI 3 @4 oq o7 SUas BIA1, 98 3fd & GHIW 8 741 § | SHAY ofd YR & qug Haidl
¥ IRTge 3RY B3 ©. 94 4! 99d 1 39% 3d 3 S8Td SIS |

S O fam R 1 SraiReTe T € X6 el BT SR 9 X8 ¥ a9-0% fas i o siiel gieht s |
S T 1, YRd &1 91 @Il 912 (HUST) 3R S ay 2022-23 T G O SdIE & 4 WiA=Id &1 I
A% 5 Fod] §, Sl R Resid 3 & R1 IRIRITE a1 ¥ "GRIAE" Y98 o aTe &R BTG S |
HRd &1 forg ueR T wiafear ¢ =nfgu 2

TP HUIGAT 1 U8 ¢ [ Yo d OXq SAIG & HH I B 4 Ufdd a (a4 3l ol S o1 s iid faar
ST | fopeg o wg TR § 2 fay adum & sramyRo &R #t s fEaa STIam e w1 R | IRt
& gl avl & a8 59 R 1 Y4, Ued IR a9e! 1 [doid <=1 ¥ 9aiiye Jarpii, Jud hexd Red
& faerd 1 o7l & JoTdl H digdd Td, 230 8 FHoll de SR MR did | $iids-10 & e d o
WA A A & e § |

TSR & fq aree H, e Fawe, HRd & 99 W 5 INIRT 31 SfUe JU9 RPN 1S Sl
Ri&a aigufa 8§ o ol adgar Sd € |

Given below are two statements :

Statement I : In an uncertain environment, foreign invertors like to invest in emerging markets like India.
Statement IT : According to the author, the current account deficit is likely to increase even further in 2022-23.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement [ is true but Statement II is false.
4. Statement I is False but Statement II is true.

(1)1

(2) 2

3) 3

(4) 4
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HYA II : TGH & AR, 3 af 2022-23 T °Te], WidT °1CT & T8 A O FAE & |
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1. &9 1 3R 11 = & §I

2. @y I 3R I gt sraca €

3. %99 [ 5cg & aftha @94 11 39T &1

4. FU9 [ 39T S, AT F99 11 97 51
(1) 1
(2) 2
(3) 3
(4) 4
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Read the paragraph given below and answer the question.

At home the post-pandemic normalisation has spurred a renewed demand for imported inputs. But abroad, it
has had the opposite effect, leading to a decline in demand. Foreign house holds are no longer demanding so
many goods now that the lockdowns that kept them in their houses and the fiscal stimuli that gave them the
money to spend have both ended. So, India's imports have soared just at a time when its merchandise exports
have started to fall,

Foreign demand will slow further as advanced countries slip into what now seem like inevitable recessions.. In
that case, India's Current Account Deficit (CAD) could widen even further, possibly to four percent of GDP in
2022-23 - double the level that the Reserve Bank of India (RBI) traditionally regards as "safe". How should
India respond ?

One possibility would be to attract foreign capital inflows worth at least four percent of GDP. But is this
realistic ? The world is currently facing unprecedented levels of uncertainty. After two years of the pandemic,
we are witnessing a land war in Europe, the highest inflation in the developed world in the last four decades,
the fastest pace of interest rate hikes in the history of the US Federal Reserve, an energy crisis in Europe, and
slowdown in China that continues to struggle with Covid-19.

In such an uncertain environment, foreign investors prefer to invest in safe assets such as US government
bonds rather than emerging markets like India.

T U U e & Ofeu iR Uy & SR oy |

T TR U HETHRI & UYTd &1 IHR1 R = sranfad smrdl $1 9digd 1 &1 Uka [$an g | fag
9= ¥, e fousia WHTd UsT & o gad 3 § fRiae Sl § | 332l e suyiedr (IRaR) 3@
3 TS B T Te] PR 3T § FID AT SIS oRId dard 376 S0 BRI H 351 TS 3R I
SEIT® o 3 @ og Y9 ST HII], T8 349 gHI UG 81 T § | ST 9E YRd & gug fFafdf
T IRTae 3RY B3 §. 94 94! 99d 1§ 39% 1d 3 S8Td S g |

o8 S g g S emfverd udid 81 €l 6l &1 3iR & 32 © 99-39 fageh aiv am o gidt omwht |
39 R, YRT &1 979 @il 97eT (HUSh) SR SR ¥ 2022-23 § Tl O 3G & 4 Fi=ra & 431
A% 96 Yodl ©, Sl YR Rsid 3 & gRI RIRITd a1 A "GRIAG" G98) of a1d €k BIGAIS |
HRd &1 forg ueR § widfea & =g 2

U HYTGHT dl U8 § [ G Bie] SdIg & & 4 HF 4 YIawd da [a3 =i goit ST &1 s iid faan
WY | fae] 1 98 TUTIRS 3 2 9% a9 § SR KR &1 ST &1 9r9-1 $R 8 ¢ | HeMRI
% 31 a1 P 1% & IR ¥ -G, e IR TR 1 fGefid 31 3 waifus qRRpii, 98 He fod
& gfaerd 1 oTel & JoTdl H digad Tid, 230 T FHell 9oe SR FRaR i ¥ $iids-10 & doe 4 o
BRI A A S e g |

U YPR & AFET AEid 4, (942 Faws, YRd & o 34Rd g2 SI9R1 1 SHU&T JUd BN 1S ol
RI&d gREuREl ¥ a9 Sl akiidi &d g |




Current account deficit in India is increasing because of

A Rise in India's imports
B. Rise in India's exports
C. Increase in foreign capital inflows
D. Fall in India's exports

Choose the most appropriate answer from the options given below :

1. Aand B Only
2.B and C Only
3. Aand D Only
4. C and D Only

1)1

2) 2

(3) 3

(4) 4

YR § 91e] @ia1 u1¢ § 3G [d SR BIEI§ 2

A YRd P ad H 3fg
B. YRd & FHafad alg
C. fo<=il guit e H gfs
D. YRd & (i ¥ firm@e

=1 few w Tapedl & O Had 30D 3O @l T I

1. HaAAIRB
2.$aAB 3R C
3. PaAAARD
4.%adC 3RD
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=40697] Question Description : general_paper_genarel paper_set 33_english_q50
2[Option ID=40698]

3[Option ID=40699]
4[Option ID=40700]

Paper II : 17-Management (including Business Admn. Mgt./Marketing/ Marketing Mgt./Industrial
Relations and Personnel Mgt./ Personnel Mgt./Financial Mgt./Co-operative Management)

Sl. No.1
QBID:117001

What kind of elasticity of demand is faced by the oligopolistic firm?

1. Low elasticity for price rise and more elasticity for price cuts.

2. High elasticity for both whether there is price rise or price cufs.
3. Low elasticity for both whether there is price rise or price cuts.

. High elasticity for price rise but less elasticity for price cuts.
)1

(2 2

(3) 3

(4) 4
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o 2
3) 3
(4) 4
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Which of the following correctly explains the notion of consumer surplus?

1. the difference between what consumers are willing to pay for a given quantity of goods and services and the

amount they actually pay.
2. the difference between what consumers are willing to buy given quantity of goods and services and the

quantity they actually buy.
3. the difference between what consumers are willing to plan to buy given quantity of goods and services and
the quality they actually buy.
4. the difference between total utility and addition to total utility from goods and services the consumers buy.
1) 1
(2 2
3) 3
(4) 4

fFafeRad # 9 SF-T1 IuHIS SAfERIY BT @GR &1 Je! AR Bl 62

1. SUHTeIT a3l SR Jaredl B yad HE1 & [T il YT S FIEd § IR 39 gRI dRkdfde YT
& e BT S|

2. JUHIGRTT ARG 3T AR Harafl Pt Sl et HAT Wl F1gd & 3R d Sl dreifae Hiar e ¢, & o= &1
3|

3. JUHIaT b1 a¥dall SR Adrsil D1 Wel JEl S W 61 AT 3R 37 shd Pl ISP ToIadl &

dig DT R
4. FUMIFATsl gRT aEg auT Jarell &1 $a STl 3R Fd IUAiiG & IRaG & d1d HI 3R |

1) 1
(2) 2
(3) 3
(4) 4
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The market demand and supply equation for a product are
Qp=30-3P
Qg =20+ 2P
Here Q for quantity; P for price

What is the equilibrium demand?

.18
.16
.24
.20
1
() 2
(3) 3
4 4

b D =

=




feb il IeTe P 1T STI9IR 1 HiTT SR 3M19fd BT FHIBRT G -

Qp=30— 3P
Qg =20+ 2P
RT AT I AT Q HIAT & faw p
HIT & I H1 82
1.18
2.16
3.24
4.20
1) 1
) 2
(3) 3
(4) 4
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“Corporate governance is to conduct the business in accordance with the owner’s (shareholders) desires™ is
conceptualized by

1. Henry Fayol
2. Milton Friedman
3. Peter Drucker
4. Lord Cadbury
1) 1
(2) 2
3) 3
4) 4

“[TH (HTURE) MG DT IUGN (SHAYRDT) Bl 331 & Y AT & Ydlel- gd (bl oIl 37, 3HD]
i d fbd & gRI GUILIHRUI fbar 7 am

1. eRI Bad
2. fieed wisha
3. dieR g
4. 1S Faal
@ 2
3) 3
(4) 4
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3[Option ID=40715]
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According to Maslow’s hierarchy of needs, which one of the following organizational aspects will not be
included in the self-actualization needs?

1. Advancement
2. Job challenge
3. Status
4. Self-image
1) 1
2 2
(3) 3
4 4
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1. 39

2. S I
3. QI?[BI
4. 3TH-Bfd
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=40717] Question Description : management_management_setl_english_q5
2[Option ID=40718]

3[Option ID=40719]
4[Option ID=40720]

Sl. No.6
QBID:117006

Which one of the following is not a job related performance data to identify the performance of an employee?

1. Attitude Surveys
. Late deliveries

. Grievances

. Absenteeism
1

(2) 2

(3) 3

4 4
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1. 3fftgfy Adamr

. fadiferd guarmar
4. erqufRyfa

1) 1

(2) 2

3) 3

4) 4
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1[Option ID=40721] Question Description : management_management_setl_english_q6
2[Option ID=40722]
3[Option ID=40723]
4[Option ID=40724]

Sl. No.7
QBID:117007

Which one of the following is not an effect on performance, behaviour and health when stress level of an
employee is high?

Feeling sleepy all the time
Poor performance
Exhaustion
4. Nervousness
1) 1
(2) 2
(3) 3
(4) 4

It
2
3.
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3. gfesifa
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(1)1
) 2
(3) 3
(4) 4

1[Option ID=40725] Question Description : management_management_setl_english_q7
2[Option ID=40726]
3[Option ID=40727]
4[Option ID=40728]

Sl. No.8
QBID:117008

Which one of the following methods of forecasting human resource demand is not a qualitative method?

1. Delphi technique
2. Markov analysis
3. Nominal group technique
4. Group brain storming
1) 1
(2) 2
3) 3
(4) 4

A4 G T gaaE &1 Fgfiiad & 3 & I fafd qoneres fafy 981 8

1. STl cfdTd
2. AT Id TARY

3. AIHTd Y efara
4. U o I

1)1
) 2
(3) 3
(4) 4

1[Option ID=40729] Question Description : management_management_setl_english_q8
2[Option ID=40730]
3[Option ID=40731]
4[Option ID=40732]

Sl. No.9
QBID:117009

Which one of the following is not a characteristic of performance management?

1. Owned by human resource department
2. Does not have direct link to reward
3. Continuous review with one or more formal reviews in a year
4. Joint or participative process
1
(2 2
(3) 3
(4) 4
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(1) 1

2) 2

3) 3

4) 4

1[Option ID=40733] Question Description : management_management_setl_english_q9
2[Option ID=40734]

3[Option ID=40735]
4[Option ID=40736]

Sl. No.10
QBID:117010

Which one of the following is not an advantage of staffing international operations of an MNC using Parent
Country Nationals (PCN)?

1. Proper linkage between foreign subsidiary and the headquarters
2. Familiar with the local norms and culture
3. Use of PCN helps develop global capabilities in the organisation
4. Knowledgeable about how the parent company operates

1

) 2

(3) 3

(@) 4

for et agIPT Ul (TH T ) & SaRRIPR URETe H HIG o> b Al (o 9w @ @i (gl
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3. A1q <=1 & Farfydl &1 van SrsH § 9idyd g [awiig o § 9grdl Sl ¢
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o 2
(3) 3
4) 4

1[Option ID=40737] Question Description : management_management_setl_english_q10
2[Option ID=40738]
3[Option ID=40739]
4[Option ID=40740]

Sl. No.11
QBID:117011

Which one of the following can be the coping mechanism if the source of resistance to change is the fear of loss
of power?

1. Active support from the top
2. Participation and involvement
3. Role clarity and definition
4. Role redefinition and re-orientation
1
(2 2
(3) 3
(4) 4
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1[Option ID=40741] Question Description : management_management_setl_english_q11
2[Option ID=40742]
3[Option ID=40743]
4[Option ID=40744]

Sl. No.12
QBID:117012

If the emplovers’ attitude towards trade unions is of acceptance, their behaviour will be

1. Dictatorial
2. Paternal
3. Business-like
4. Participative
1) 1
() 2
(3) 3
) 4

oI [ aTerd 1 i AigR-Tdl Pl Wibrdl Dl 5, O 30 GgH H ITHI AdgR G -
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. AIdgIRS
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1) 1

(2) 2

3) 3

4) 4

1[Option ID=40745] Question Description : management_management_setl_english_q12
2[Option ID=40746]

3[Option ID=40747]
4[Option ID=40748]

Sl. No.13
QBID:117013

Accounting principles are generally based on :

. Practicability

. Subjectivity

. Convenience in recording
. Legal framework

1

(2 2

3) 3

(4) 4

a1 Rigid amrad: Rafafad R enaia gid &
1. Sggridr
.

3. 3ff¥HeE | ggferd
4. 1af9® wq3E]

1) 1

(2) 2

(3) 3

4) 4
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1[Option ID=40749] Question Description : management_management_setl_english_q13
2[Option ID=40750]
3[Option ID=40751]
4[Option ID=40752]

Sl. No.14
QBID:117014




ABC Ltd. produces two products X and Y in its production unit. Each unit of X and Y takes 5 hours and 10 hours
as production time respectively. 1000 units of X and 600 units of Y were produced in a month. Actual man-hours
in this production were 10,000. Yearly budgeted hours are 96.000. The activity ratio is —

1. 125%
2. 137.50%
3. 108.33%
4. 125.50%
1) 1
) 2
(3) 3
(4) 4

U ot 9t farffres 1 oroi Sare soig A X SR Y 31 Sdel &f Iarfed fhan X ok Y ®1 gdd 315 - HA:
5 H¢ 3R 10 U BT I THY fordT | T A1 H X BT 1000 SHISAT Y BT 600 SHISTT Idliad HI | 59
Id1e H aRAfde 10,000 %H ©¢ T | Salds diies qoie fafgd Hel 1 WA 96,000 ¢ | BRIGHT AJUTd
fhd-1 g 2

1[Option ID=40753] Question Description : management_management_setl_english_q14
2[Option ID=40754]
3[Option ID=40755]
4[Option ID=40756]

Sl. No.15
QBID:117015

Computation of overhead absorption rates should be based on :

. Maximum capacity
. Practical capacity
. Idle capacity
4. Normal capacity
1) 1
(2) 2
3) 3
(4) 4
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3. fafspa e
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1) 1
) 2
(3) 3
(4) 4

1
2
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1[Option ID=40757] Question Description : management_management_setl_english_q15
2[Option ID=40758]
3[Option ID=40759]
4[Option ID=40760]

Sl. No.16
QBID:117016




Operating budget consists of two parts, called as budget and budget

1. Cash, Expense

2. Flexible, Master

3. Programme, Responsibility
4. Master, Utilisation

(1)1
(2) 2
(3) 3
4) 4
U=Td- doic § ¢ YT 8ld ¢, e goic 3R qolc Il & -
1. 9%e, g
2. ST, §&=
3. BRIHH, ISIT
4. 74, JUART
(1)1
(2) 2
(3) 3
4) 4

1[Option ID=40761] Question Description : management_management_setl_english_q16
2[Option ID=40762]
3[Option ID=40763]
4[Option ID=40764]

Sl. No.17
QBID:117017

As per CAPM model, the required rate of return on a security is :

1. Return on Treasury Bonds + Market Risk Premium
2. Return on individual securities + Beta Premium
3. Return on Government Securities + Unsystematic Risk Premium
4. Return on Corporate Securities + Systematic Risk Premium
1) 1
(2 2
3) 3
(4) 4
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1[Option ID=40765] Question Description : management_management_setl_english_q17
2[Option ID=40766]
3[Option ID=40767]
4[Option ID=40768]

Sl. No.18
QBID:117018

A firm can delay and favourably affect the control of its cash disbursements through the use of :

1. Bootstrapping payables
2. Zero balance accounts
3. Yield sensing for marketable securities
4. Hedging of intangibles
1
(2 2




3) 3
(4) 4
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1. geRf day
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1) 1
(2) 2
3) 3
(4) 4

1[Option ID=40769] Question Description : management_management_setl_english_q18
2[Option ID=40770]
3[Option ID=40771]
4[Option ID=40772]

Sl. No.19
QBID:117019

Firm A wants to acquire Firm B and the financial details of the firms are -

A B
Market Price per share 350 %20
Numer of shares 1,000,000 500,000

Market value of the firm 50 million 10 million
If the merger is expected to bring gains which have a present value of Y10 million and Firm A offers one share

for every two shares of Firm B to the shareholders of Firm B, the apparent cost of acquiring firm B is

1. 3.500.000
2.%5.000.000
3.37.692.516
4.3 2.500.000
1) 1
) 2
3) 3
(4) 4
THH A BH B ARG &A1 g4l ¢ Ud BH & fadig f[qarur feu § -
A B
Ul TR §16IR DHiEd 750 220
T B AT 1.000.000  500.000
H & JIoR Hed 50 million 10 million

i farea 8 a1 Uifted 1 aruai B 115 gl S HD1 Hivlal Hed 210 HieR 8 3R BH A GRIBH B & Yo al
QR & 70 U AR &1 Udd <01 STl 6, 99 BH B & UG B3 &I G209 dRTd gl -

. X 3,500,000
. X 5.000.000
.X 7,692,516
. % 2.500.000
(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=40773] Question Description : management_management_setl_english_q19
2[Option ID=40774]
3[Option ID=40775]
4[Option ID=40776]

Sl. No.20
QBID:117020




Which of the following forms of purchasing power parity states that changes in spot rates over a period of time
reflect the changes in price levels over the same period in the currencies of the concerned economies?

1. Relative form
2. Absolute form
3. Expectations form
4. Contango form
1) 1
(2) 2
3) 3
(4) 4

Y T G &1 MYIRIT S H-91 WY Jg 9aldl 6 U J9I1Ele § Tie o H gRdad Heled
Sforqeyrai 1 gersii 1 34T grarafy # g1 arell Sid TRl H gRad o Ueikid ®rdi g2

1. gIUg W=y
2. Ry w@Ey
3. AR &Y
4. 3UTIH-HUR &Y

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=40777] Question Description : management_management_setl_english_q20
2[Option ID=40778]
3[Option ID=40779]
4[Option ID=40780]

Sl. No.21
QBID:117021

Which of the following marketing channel function helps to fulfil the completed transactions?

1. Gathering and distributing information about consumers
Reaching an agreement on price and other terms
Communicating with prospective buyers
4. Assuming the risks of carrying out the channel work
1) 1
(2 2
3) 3
(4) 4
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3. HTAT shareii & 1Y JUN0T BT
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(1) 1
) 2
(3) 3
(4) 4

2.
3.

1[Option ID=40781] Question Description : management_management_setl_english_q21
2[Option ID=40782]
3[Option ID=40783]
4[Option ID=40784]

Sl. No.22
QBID:117022




A portion of a market that is so well suited to a firm’s internal and external environment that other firms are not
likely to challenge and dislodge it, is called :

1. Core competency
2. Propitious niche
3. Market segment
4. Product positioning
1) 1
(2) 2
3) 3
(4) 4
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(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=40785] Question Description : management_management_setl_english_q22
2[Option ID=40786]
3[Option ID=40787]
4[Option ID=40788]

Sl. No.23
QBID:117023

An approach to corporate strategy in which top management views its product lines and business units as a series
of investments from which it expects a profitable return is called

1. business mix
2. integrated strategy
3. portfolio analysis
4. scenario analysis
1) 1
(2 2
3) 3
(4) 4

DIYRE XU DT 98 IYNTH forgd 2N UdeH 389b Id1E Y=Y Ud ayy Sbigdl &l 421 &1 ded &
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1. Faurg Ay
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4. ufey fageyo

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=40789] Question Description : management_management_setl_english_q23
2[Option ID=40790]
3[Option ID=40791]
4[Option ID=40792]

Sl. No.24
QBID:117024




The total combined customer lifetime values of all of the company’s customers is known as

]

“ustomer equity
‘ustomer-perceived value
‘ustomer Lifetime value
“ustomer share

)

1.
24
3

]

4,
(1)1
) 2
(3) 3
(4) 4

&Y & Gl US| &1 P YT ATSlia- Hed bedrdl g -

1. U8 3l
2. UIgH-dIY eI
3. UIgP SHTolla Jel
4. U5 3
1) 1
2) 2
(3) 3
(4) 4

)

1[Option ID=40793] Question Description : management_management_setl_english_q24
2[Option ID=40794]
3[Option ID=40795]
4[Option ID=40796]

Sl. No.25
QBID:117025

Which of the following indicates “Perishability” aspect of service characteristics?

1. Customers participate in and affect the transaction

. Service delivery and customer satisfaction depend on employee actions
. Customers aifect each other

. It is difficult to synchronize supply and demand with services

1) 1

2 2

3) 3

(4) 4
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(1)1
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(3) 3
(4) 4
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1[Option ID=40797] Question Description : management_management_setl_english_q25
2[Option ID=40798]
3[Option ID=40799]
4[Option ID=40800]

Sl. No.26
QBID:117026

Which of the following are the distinctive features of “Big data™ being used in Analytical CRM?

1. Volume, Variety, Velocity, Veracity
2. Volume, Variability, Variety, Veracity
3. Valence, Variety. Volume, Variance
4. Variance, Valence, Velocity, Veracity
1) 1

(2 2




3) 3
(4) 4

[IRAYUITHS CRM H oIUs T & Wit H HufdRad # 3 o1 Ut fafRiy yafd g»
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11
(2) 2
3) 3
(4) 4
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1[Option ID=40801] Question Description : management_management_setl_english_q26
2[Option ID=40802]
3[Option ID=40803]
4[Option ID=40804]

Sl. No.27
QBID:117027

“A tennis player slams his tennis racket to the ground when disappointed with his/her game”.
In above example, tennis player exhibits which of the following defense mechanism to handle frustration?

1. Aggression
2. Regression
3. Projection
4. Rationalization
)1
(2) 2
(3) 3
(4) 4
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1) 1

(2) 2

3) 3

(4) 4

1[Option ID=40805] Question Description : management_management_setl_english_q27
2[Option ID=40806]

3[Option ID=40807]
4[Option ID=40808]

Sl. No.28
QBID:117028

“An outlet which starts as a general retailer grows into a specialized retailer and in course of time becomes even
a bigger general retailer”
Above statement corresponds to which of the following theory of Retail?

1. Wheel of Retailing Theory
2. Retail Accordian Theory
3. Theory of Natural Selling
. Retail Life Cycle Theory
1

) 2

(3) 3

(4) 4

4=
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1. e AR Rigid &1 dh
2. BedhR AR AHbhllod Rigid
3. aTHIfde fasha &1 Riaid

4. G ATIR Siid 9 [Fid
1) 1

) 2

3) 3

4) 4

1[Option ID=40809] Question Description : management_management_setl_english_q28
2[Option ID=40810]
3[Option ID=40811]
4[Option ID=40812]

Sl. No.29
QBID:117029

A cold drink bottling plant fills bottles of 500 ml. capacity with mean of 500 ml. and a standard deviation of 5
ml. Atleast what percentage of bottles would contain cold drink between 490 ml. and 510 ml. ?

. 75 per cent
. 95 per cent
. 67 per cent
. 81 per cent
1) 1
2 2
(3 3
4) 4

Ush 2l U S1efei T 943 H 500 ml A1, 500 ml AT 3R 5 ml & AFD (el & iy didd HR 5id g1 39
UlehdT H 490 ml 3R 510 ml & st =W U4 ardl didell DI <YAaH Uid=d fba-r gim?

1. 75 Ufd=rd
2. 95 Wid=rd
3. 67 Ufd=Id
.81 gfa=rd

1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=40813] Question Description : management_management_setl_english_q29
2[Option ID=40814]
3[Option ID=40815]
4[Option ID=40816]

Sl. No.30
QBID:117030

Karl Pearson co-efficient of variation (CV) measures which of the following characteristics?

1. Homogeneity
2. Unbiasedness
3. Consistency
4. Efficiency

1

) 2

3) 3

(4) 4
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(1) 1

(2) 2
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1[Option ID=40817] Question Description : management_management_setl_english_q30
2[Option ID=40818]

3[Option ID=40819]
4[Option ID=40820]

Sl. No.31
QBID:117031

For a project activity, the optimistic, the pessimistic and the most likely times are 4, 14 and 6 days respectively.
Its average time is

1. 10 days
. 7 days
. 12 days
9 days

s o

=

(1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40821] Question Description : management_management_setl_english_q31
2[Option ID=40822]

3[Option ID=40823]
4[Option ID=40824]

Sl. No.32
QBID:117032

In decision analysis, the expected value of perfect information is calculated as

1. Expected payoff with perfect information minus Expected payoff without experimentation
Expected value of sample information minus expected payotf with perfect information
Maximum payoff for each state of nature multiplied by the prior probability of that state of nature
Expected increase in the payoff minus the cost of the experimentation

2.
3

1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=40825] Question Description : management_management_setl_english_q32
2[Option ID=40826]
3[Option ID=40827]
4[Option ID=40828]

SlI. No.33
QBID:117033

Which one of the following is NOT a non-tariff barrier?

1. Quota

2. Customs and entry procedures
3. Combined rates

4. Exchange control

1) 1

() 2

3) 3

4) 4

afciad 5 9 I 91 U=Jedha’ Y T8l 62
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1[Option ID=40829] Question Description : management_management_setl_english_q33
2[Option ID=40830]
3[Option ID=40831]
4[Option ID=40832]

Sl. No.34
QBID:117034

Which of the following marketing strategy falls under Geocentric kind of international orientation?

1. Extension of domestic strategy to foreign markets
2. Global strandardisation
3

Localisation
4. Trade off between localization and standardisation
11
(2) 2
(3) 3
4) 4
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(2) 2

3) 3

(4) 4

1[Option ID=40833] Question Description : management_management_setl_english_q34
2[Option ID=40834]

3[Option ID=40835]
4[Option ID=40836]

Sl. No.35
QBID:117035

Which of the following events contributed most to the disruption in the Bretton Woods system?

1. Introduction of Special Drawing Rights.
2. Western dominance over the system
3. Suspension of convertibility of dollar into gold in 1971
4. Oil price shock of 1973
1) 1
(2 2
(3) 3
(4) 4

fFrofafad gerei # 9§ frga s 959 usfa & eay H 9aifds arer fea g
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2. AGRIT R GigH vy
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4. 94 1973 BT dd Hed Yabe

(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=40837] Question Description : management_management_setl_english_q35
2[Option ID=40838]
3[Option ID=40839]
4[Option ID=40840]
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Which of the following integrations is related to supernational organizational structure?

1. Free Trade Area
2. Economic union
3. Common Market
4. Economic Integration
11
(2) 2
(3) 3
4) 4

frafead 1R el H# I DI 91 SIRAPTY Wi a1 9 Feifdd g2

1[Option ID=40841] Question Description : management_management_setl_english_q36
2[Option ID=40842]
3[Option ID=40843]
4[Option ID=40844]
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L.C. Gupta’s sickness prediction model primarily focused on which of the following?

1. Earnings Before Interest and Tax
2. Sales and Working capital levels
3. EBIT and operating cash flows
4. Market value of equity and debt
1) 1

2) 2

3 3

(@) 4

Ua . T B B0l A Aled = ¥4 ¥ Fgifed fg SR adr g2

1. S4TS1 U9 R I gd Bl 31
2. feh1 ud Srdiierdslt &R
3

.3 9l 318 1 Ud UdTad Adhe Udlg
4.9 &l d FU DI GI6IR Hed
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=40845] Question Description : management_management_setl_english_q37

2[Option ID=40846]
3[Option ID=40847]
4[Option ID=40848]
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'Entrepreneur is an innovator playing the role of a dynamic businessman adding material growth to economic
development', is articulated by :

1. Porter (1990)

2. Lichtenstein and Lyons (2010)
3. Joseph Schumpeter (1883-1950)
4. Shane (2008)

1) 1

() 2

(3) 3

4 4

“I4Hl T VYT AdHYDdl gidl 3 Sl 31 fabrg # it ddfe B 9 U Gfha aayril &1 &b
H g1 €, gg fsifch # 9l ber g 2

1. 91X (1990)
2. fergefafewa ud @@= (2010)
3. G Adied (1883-1950)
4.9 (2008)

1) 1

() 2

(3) 3

(4) 4

1[Option ID=40849] Question Description : management_management_setl_english_q38
2[Option ID=40850]
3[Option ID=40851]
4[Option ID=40852]
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String of activities that moves a product from the raw material stage through manufacturing and distribution, and
ultimately to the end user is called:

1. Business model
2. Business verticals
3. Value chain
4. Business concept
1) 1
(2) 2
3) 3
4) 4

foparpardl 1 g @ (tfd) ST $1s 3are ot onfed (=) JHER £ srawn ¥ fafmior gd faarm
U1 T 3 UGkl deb Ugddl 6. d¢ el ldl g -

1. 99 UfaEy
2. A fEids

3. Held Hddl
4, gddyg HIYURA]
(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=40853] Question Description : management_management_setl_english_q39
2[Option ID=40854]
3[Option ID=40855]
4[Option ID=40856]
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A metaphor describing the time period in which a firm can realistically enter a new market is called

1. Opportunity fall
2. Opportunity gap
3. Window of opportunity
4. Opportunity recognition
1
(2 2
(3) 3
(@) 4

39 qHUTGH D1 g1 (@fvid) e T w0 S DI bt () T 73 AR H guriard] dlid I g
&l o, g FedKll § -

1. A d[ glYH
2. HIHIY H-Nd
3. HIH I[dIi&f

S HIYY HI-YAT (YgdI-)
1) 1

) 2

3) 3

(4) 4

g

1[Option ID=40857] Question Description : management_management_setl_english_q40
2[Option ID=40858]
3[Option ID=40859]
4[Option ID=40860]
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According to Max Weber, in an ideal bureacracy :

A. Jobs are broken down into simple, routine and well-defined tasks.

B. Offices/Positions are organized in a hierarchy.

C. All organizational members are to be selected on the basis of technical qualifications.

D. Rules and Regulations are applied uniformly, avoiding involvement with personalities and personal
preferences of employees.

E. The interests of any one employee or group of employees should not take precedence over the interests of
the organization as a whole.

Choose the most appropriate answer from the options given below :

1. A,B,C,Donly
2.B,C, D, E only
3.A.B,D.E only
4. A, B, C.E only
11
2 2
(3 3
4 4

AR IR F AR, el e Tagl Hgar g -

A, Tl ara, Fafid, sik gufeuna saf 8 fqufsa gidt 81

B. SAI@d/de HIUI-e &Y H G1idd gid ¢ |

C. gH! FiaH® G ddb-iid! argdrsi & SfUR 0R 9afd fHU U gld g

D. HHAIRY] & Hfddd Ud ol adiadrsii &1 fa=1 =i fou, a8 ud S Ue 94 =0 8 drREld 6 |
E. foodfl Rl & fed 3ral HHaridl & Gig & fgd &1 W64 & fgd I IW gl &1 91U |

= fau T fadedl § U g1 IR &1 999 iU |

1.%dd A, B,C,D
2. $9dB.C,D.E
3. $dd A, B.D.E
4.bdd A. B, C.E

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40861] Question Description : management_management_setl_english_q41
2[Option ID=40862]
3[Option ID=40863]
4[Option ID=40864]
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Which of the following are “Feedforward™ control measures for reducing workplace violence?

A. Investigate incidences and take appropriate action.

B. Train employees about how to avoid danger if situation arises

C. Review company policies and change these policies, if necessary
D. Clearly communicate policies to employees.

E. Observe how employees treat and interact with each other.

Choose the most appropriate answer from the options given below :

1. Aand C only
2.C and E only
3. B and D only
4.B, D and E only

1) 1




) 2
3) 3
(4) 4

FafaRad o 9 SF Sri-w@ R 391 S 8 a3 8q “Bie BRAS” Bisd H19- g2

A. Fe137 B S BT 3R Ifad Srddrgt d|
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C. BT P AT BT THIE HAT 3R TGS gi- U= 39 il H Faad HT|

D. FHAINI H1 WP =9 Y il & IR § 9qma1 9|

E. 3 d1d &I 3ddl®H HA1 fh HHAR! M98 H $Y deR U4 g1ddid $d o |

=< fau 71U fahedl § 9§ Uel 3R &I 99+ Hifu|

1. Fad AR C
2. %ad C 3R E
3. HAd B 3R D
4. HAd B, D JIRE

(1)1
) 2
(3) 3
(4) 4

1[Option ID=40865] Question Description : management_management_setl_english_q42
2[Option ID=40866]
3[Option ID=40867]
4[Option ID=40868]
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Which of the following are the sources of ethical problems in organizations?

A. Failure of personal character

B. Organisational goals Vs. Social values

C. Psychological egoism and rationalism

D. Virtue and common good conflict

E. Conflict of personal values and organizational goals

Choose the correct answer from the options given below :

1. A, Band C only
2.C.Dand E only
3. A,Band E only
4.B, D and E only

1

(2 2

3) 3

(4) 4




fafalRea 9 9 o1 e | Afds g9l & Ad g2

A. T950 IR &1 gl
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D. 9&I[U1 Ud 9HHgd 99y

E. AfITId Hedi Ud Fit1afe dedl o1 dJay
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1.$ad A, B 3R C
2. $Had C,D AR E
3. Hdd A, B3R E
4. %dd B, D 3R E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40869] Question Description : management_management_setl_english_q43
2[Option ID=40870]
3[Option ID=40871]
4[Option ID=40872]
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Psychological factors of individual behaviour will include which of the following?

A. Perception

B. Emotional intelligence
C. Values

D. Economic status

E. Attitudes

Choose the most appropriate answer from the options given below :
C only

,B,

, C,E only
,D,E onlv
.8

Ffdd & TdgR & AFIdND DRD] & HAfaRad # I $1F I 2mfAd g

A. TEU

B. HIATHP gf<
C. Sila" Jed
D. afidfes Rufa

E. 3ffHaf
41 fau 7Tt fasdh eyl § 9 gl TR &l 94 Bifoiu|

1.$hdd A, B, C
2. Hdd A, C.E
3. $ddB,D.E
4.$ddB.C,E




(1) 1
(2) 2
3) 3
4) 4
1[Option ID=40873]
2[Option ID=40874]

3[Option ID=40875]
4[Option ID=40876]

Question Description : management_management_setl_english_q44

Sl. No.45
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A. Creative
B. Assertive
C. Persuasive
D. Decisive

Which of the following are the traits of successful leaders?

E. Self-confident

Choose the most appropriate answer from the options given below :

1. A, C, D only
2. A B, Eonly
3.B,C,D,E only
4.B, D, E only
11
) 2
(3) 3
4) 4

A. GoHTEHD
B. FyuraT®
c. fayriaes
D. Forias

E. 3TH-fasyrdt

FOfARId o 9 9 Ag@dl i [GRIVa o 91 g2

™

forg |

i< faU 7Y f9spedl 7 9 a4 3gad IR &I 99 Bl

1.$ddA.C.D
2. Hdd A, B.E
3. $dd B, C.D. E

4. HddB.D. E

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=40877]
2[Option ID=40878]

3[Option ID=40879]
4[Option ID=40880]

Question Description : management_management_setl_english_q45
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Which of the following will fall under the grievances relating to promotion category?

A. Supersession

B. Increments

C. Acting promotions
D. Seniority

E. Pay fixation

Choose the most appropriate answer from the options given below :

1.A. C.D only
2.B.D, E only
3.A,C.E only
4.A,C,D.E only
1) 1
(2 2
(3) 3
(4) 4
T Ao & Wi RIprd ¥ s FoRad 3§ 9 9 G o 2
A. 3fferpHIT

B. dddlg

C. BRIAEP YAl
D. aREdI

E. dd- [Haa

Hid feu 7 faswedl # O Uad IR &1 99 Difold|

1.$hdd A, C,D
2. $ddB,D,E
3.hdd A, C.E
4. bdd A, C.D.E

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40881] Question Description : management_management_setl_english_q46
2[Option ID=40882]
3[Option ID=40883]
4[Option ID=40884]
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Which of the following are constituents of trade unions?

A. Members

B. Employers

C. Political Party
D. Government
E. Society

Choose the most appropriate answer from the options given below :

A, B only
A.C,D only
.B, C,E only
4.A,B,D. E only
1
) 2
3 3

1
2
3




(4) 4

fafeiad 4 9 HoigR-g4i & H9cd b 4 g2
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1. $dd A, B

2. hdd A, C,D
3.$dd B, C.E
4.%dd A, B.D.E

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=40885] Question Description : management_management_setl_english_q47
2[Option ID=40886]
3[Option ID=40887]
4[Option ID=40888]
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Which of the following are benefits for the organization of career management?

A. Improved performance

B. Improved productivity

C. Increased retention of high talent employees

D. Development of competencies and personal skills
E. Better individual — organization match

Choose the correct answer from the options given below :

A. B, Conly
B. C,E only
.A,B,C,D only
4. A, D, E only
1) 1

2) 2

(3 3

(4) 4

fafoiRad 7 O SifasT yde= & e & a1y I 82

A. 39d warga

B. 37d Il

C. 3= &AM DHARET & TR H Ife
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E. -89 P dgar gud

1
2
3
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1.$dd A, B, C
2. $ddB.C.E
3. $ddA. B.C.D

4. HAAA.D.E




1) 1

(2) 2

3) 3

(4) 4

1[Option ID=40889] Question Description : management_management_setl_english_q48
2[Option ID=40890]

3[Option ID=40891]
4[Option ID=40892]
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Which of the following are three levels of training in the six sigma quality system?

A. Blue Belts
B. Yellow Belts
C. Black Belts
D. Red Belts

E. Green Belts

Choose the most appropriate answer from the options given below :

1. A, Band C only
2.C,Dand E only
3. A, D and E only
4.B, C and E only

11

) 2

(3) 3

4) 4

afafad 5 ©: R qorer yonedt # uiRienr & Ji9 TR R e

A. Al deT
B. Uidll dec
C. HIdl dec
D. dld dec

E. g deC
A fau U famedl § 4 Ugl 3R &l 99+ Hifog|

1.$hdd A. B3R C
2. %ad C.D 3R E
3. Had A, D AR E
4.%ddB. C AR E
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=40893] Question Description : management_management_setl_english_q49
2[Option ID=40894]

3[Option ID=40895]
4[Option ID=40896]
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Which of the following statements are true in context of efficient market?

A. Equilibrium rates of return will prevail

B. Investor cannot earn a positive return

C. Volatility will be very high

D. Securities of listed firms sell at their fair values
E. Investors are generally risk-averse

Choose the most appropriate answer from the options given below :

1. A, Donly
2.B, Conly
3.D,Eonly
4.B, E only
1) 1
(2 2
(3) 3
(4) 4

A SR § oo H FHafafad H-3 HuF 981 82

A. Uid%Hd S 9 & G (ATHHTE Bitlt|

B. A9 «ATdS ufawd 8! 3ifSid & Iad |

C. dgd 3ffe® sfRuRdr gt

D. YdlaG BHl &1 uiayfaal shfd Jel iR faedl g
E. Ha=re g@rar Siied-ufdehd gid 5|

i fau U fadedi § 9 gl IR &1 999 Bifviu|

1.hdd A, D
2. Hdd B, C
3. $dd D, E
4.$Hdd B, E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40897] Question Description : management_management_setl_english_q50
2[Option ID=40898]
3[Option ID=40899]
4[Option ID=40900]
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Which of the following are considered interelocking elements of a versatile business model?

A. Regulatory support and promoter experience
B. Customer value proposition

C. Financial resources and cost sheets

D. Key resources and processes

E. Profit formula

Choose the most appropriate answer from the options given below :

1. A, Band C only
2.C.D and E only
3. A CandD only
4.B, D and E only

1

2) 2

3 3




(4) 4

FfaRad o 9 $F-f5 Sgadl e Aied & a9 dd & Y § T old g2
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1. Fad A, B3R C
2. $adC.D 3R E
3. Had A, C AR D
4. $ad B, D AR E

11
(2) 2
(3) 3
(4) 4

1[Option ID=40901] Question Description : management_management_setl_english_q51
2[Option ID=40902]
3[Option ID=40903]
4[Option ID=40904]
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Which of the following are construed for government intervention to support entrepreneurship and small firms?

A. Stimulate demand and new venuture creation in the emerging sectors
B. Decentralised asset ownership and people participation

C. Help firms to adopt new technology to avoid market failure

D. Supporting women participation in business and high-tech firms

E. Export promotion and currency stabilisation

Choose the most appropriate answer from the options given below :

1. A, Band C only
2.C.D and E only
3. A, Cand D only
4.B, D and E only

1) 1

(2 2

(3) 3

(4) 4
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=40905] Question Description : management_management_setl_english_q52
2[Option ID=40906]

3[Option ID=40907]
4[Option ID=40908]
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Indian national strategy for financial inclusion, 2019-24 aims at :

A. Broadening and deepening of financial inclusion

B. Digitisation and seamless facilitation of financial transactions

C. Access to formal financial services in an affordable manner.

D. Women empowerment and strengthening self help group (SHG) ecosystems.
E. Promoting financial literacy and consumer protection

Choose the most appropriate answer from the options given below :

1. A, Band C only
2.C,Dand E only
3. A,BandD only
4. A, Cand E only

11

) 2

(3) 3

4) 4
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1. $dd A, B3R C
2.%dd C,D AR E
3. Had A, B 3R D
4. %dd A, C 3R E

(1)1
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3) 3
(4) 4
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3[Option ID=40911]
4[Option ID=40912]
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Which of the following statements are applicable to value-based pricing concept?

A. Design product to deliver desired value at target price
B. Set target price to match customer perceived value.
C. Determine costs that can be incurred.

D. Convince buyers of product’s value.

E. Assess customer needs and value perceptions.

Choose the most appropriate answer from the options given below :

1. A, B, Cand E only
2. A, B, CandD only
3.B,C.Dand E only
4. A, D and E only

1) 1
(2) 2
(3) 3
(4) 4
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1.$Fdd A, B, C 3R E
2. HAd A, B, C 3R D
3. $dd B, C,D 3R E
4. HddA. D 3R E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40913] Question Description : management_management_setl_english_q54
2[Option ID=40914]
3[Option ID=40915]
4[Option ID=40916]
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Which of the following criteria core competencies must meet in order to create value and provide a viable basis

for synergy among the businesses in a corporation?

A. Core competencies must be difficult for competitors to imitate.

B. Different businesses in the corporation must be similar in atleast one important way.

C. Core competence must enhance competitive advantage by creating superior customer value.

D. Core competencies must facilitate business diversification through shared activities with competing firms.
E. Core-competencies must leverage business resources with competing firm to reduce business costs.

Choose the most appropriate answer from the options given below :

1. A, B and C only
2.C,D and E only
3. A.Dand E only
4.B, Cand D only

1) 1




) 2
3) 3
(4) 4
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Which of the following Digital marketing statements are correct?

A. Click through Rate is calculated by dividing the total number of clicks by the total number of ad
impressions.

. Long tail keywords are general key words which draw lower customer traffic.

. Adwords is Google’s earned search marketing programme.

. Search Engine Marketing includes both search engine optimization and paid search.

. Ad Auction is the process that Google runs for every Google search to decide which ad must appear for that
specific search and in which order these set of ads will be displayed.

N w

Choose the most appropriate answer from the options given below :

1. A, Band C only
2.B, C and D only
3. A, Band E only
4. A, D and E only

11

(2) 2

(3) 3

) 4
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1. Fad A, B3R C
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(3) 3
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Which of the following circumstances favour “Sprinkle Approach™ for launching products in internatonal
markets?

A. The life cycle of the product is relatively short.

B. The competitive intensity of the market is very high with strong and fierce competitors
C. Cost of entry in markets is relatively high.

D. Firm has large resources to manage simultaneous product launch in multiple markets.
E. The size of the target market is small with low growth potential.

Choose the most appropriate answer from the options given below :

1. A.Band D only
2. A, CandE only
3.B.D and E only
4.C,Dand E only

@1

() 2

(3) 3

(4) 4




SRIPTY ISR A T 3R D H Fafeiad § 3 o I Rufai [RBidd s & sHea gidi ¢ -

A. 3TE DI Sliq-Tsh 3U&lhd BicT gidl g |

B. ‘dINR’ ®I WY diadl Toidd a4 Yad wiaei<fdl & &9 9gd 3= g |

C. IR | Ya ARTd SHU&Thd 3 ¢ |

D. §g-4IWRI H FHSIAD T 8 IAIE DI RH B 8d BHl b IR AT AD JAE 8|
E. 9&3-9I9R &1 AIBR 14 df &Hd & 9 S1er gl

A fau U famedl O 4 Uel 3R &l 99+ Hifog|

1.%dd A, B 3R D
2. FAA A, C 3R E
3. %dd B, D 3R E
4. %dd C,D 3R E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40925] Question Description : management_management_setl_english_q57
2[Option ID=40926]
3[Option ID=40927]
4[Option ID=40928]

Sl. No.58
QBID:117058

Which of the following characteristics of a data set are understood using the Karl Pearson coefficient of
variation?

A. Disparity

B. Consistency
C. Uniformity
D. Homogeneity
E. Unbiasedness

Choose the correct answer from the options given below :

1. A, Band C only
2. C,D and E only
3. A,Band E only
4.B, C and E only

1

(2 2

3) 3

(4) 4




fodil efib s S=d b afeiiRad HI-2 9IvdaIg Y¥Rul & $rd [9aEH Ui &1 yd17 Hd gU
qHEl Sl B

A, faswar
B. gl
C. Uh=ydl
D. JHATT

E. fAgerar
il faU U fdsedl # 9 e Iugdd IR &l T8 Bl

1. $Hdd A, B3R C
2. %dd C,D 3R E
3. $dd A BARE
4. $ddB.C 3R E
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=40929] Question Description : management_management_setl_english_q58
2[Option ID=40930]

3[Option ID=40931]
4[Option ID=40932]

Sl. No.59
QBID:117059

Which of the following statistical tests examines the equality of two means?

A F-test

B. ‘t’-test

C. Chi-square ( »*) test

D. Mann-Whitney ‘U’ test

E. Kolmogorov-Smirnov test

Choose the correct answer from the options given below :

1. Aand C only
2.B and D only
3. A,Band C only
4.C,Dand E only
1) 1
(2 2
(3) 3
(4) 4




FfaRId d SH-DF O GieddH g U1ev1 &l J1ed] &1 THE] DI URI&0 Hd 67

A. F-O3e0r

B. 't-O1&fu

C. Ple-ail (,2) TRI&

D. AF-gIZe1 U TRigor

E. PITHRRI G RERAIG gR1&07

=i faU U fadedl § 9 Tl IR &1 999 Hifvu|

1. FadA3MRC
2. $Had B 3R D
3. Had A, B3R C
4. $9dC.D 3R E

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40933] Question Description : management_management_setl_english_q59
2[Option ID=40934]

3[Option ID=40935]
4[Option ID=40936]

Sl. No.60
QBID:117060

Which of the following comprises the interdependent troika of waste, overburden and unevenness in the ‘lean’
manufacturing?

A. Muri : Unreasonable work stress on men and machines

B. Deviations from quality, productivity and breakdowns.

C. Muda: Non value adding work.

D. Uncertainty in task times, in demand and customer’s role.

E. Mura : Inconsistency and variation in work flow, speed and quality.

Choose the most appropriate answer from the options given below :

1. A, Band C only
2.C,Dand E only
3. A, CandD only
4. A, Cand E only

1) 1

(2) 2

3) 3

4 4

fafeRad o geg Hae (o) fafmf sigom, siieR SR Srurdr & S=aaiiid 4t § on qififed ¢

A. 11 A4 SR TRl WR T S dH1d

B. UG, IeTGadl R WRId! ¥ [d9a

C. H{3T : IR-HH a8 BRj

D. BRI 3{dle, AT 3R JuHiadl HfHb1 HI SR

E. 1R1: D1 WaTg, Tfd 3R I[0radl H &1 3R faftad|

T fau 71U fahedl § O Usl I Bl 99 HifU|

1.$ad A, B 3R C
2.6dd C, D 3R E
3. Had A, C AR D
4. Hdd A, C 3R E




1) 1
(2) 2

3) 3

(4) 4

1[Option ID=40937] Question Description : management_management_setl1_english_q60
2[Option ID=40938]

3[Option ID=40939]
4[Option ID=40940]

Sl. No.61
QBID:117061

Identify the correct statement(s) about Data Warehousing (DW):

A. DW system must be acceptable to regulators and business community.
B. DW system must not be based on open source platforms

C. DW system must present information attractive to users.

D. DW system must be secure bastion that protects the information.

E. DW system must be adaptive to change.

Choose the correct answer from the options given below :

1. A, Conly
2.E,Bonly
3.A.D,E only
4.B, C.D only

11

) 2

(3) 3

4) 4

THD HSRUI (Sl.5&Y) D T4 H TG HYl Pl Gga Hiforg|

A. Sl-S oAt Il 3R radIe 9Har o o i giHl =nfgul

B. SI. S&g 7 I Had-|id Hd TR TR g1 g1 =g Tl

C. 3. Sseg A7 gRI YT i Udfd 39T diatl @ foy shya gl =gyl

D. SI. S 7 ! YAI-IRGFRIgT D1 &1 B dTel T GRI&(d 71¢ Pl g oIl =gy
E. S1. S& 7 ®l yiacH & Ui 2@l giH1 a1fgu|

i fau 71T fdshedl # 9 gl IR Dl 98- iU

1. dd A, C
2. $dJE. B
3. HAdA.D.E
4. $4ddB,C,D

(1)1
) 2
(3) 3
(4) 4

1[Option ID=40941] Question Description : management_management_setl_english_q61
2[Option ID=40942]
3[Option ID=40943]
4[Option ID=40944]

Sl. No.62
QBID:117062




Identify the incorrect statement(s) from the following —

A. Technology is a differentiator among similar business enterprises.

B. Technology can not create value for ' not-for-profit' organisations.

C. Pace of technology affects the business model of modern enterprises.

D. Needs and Goals be defined before acquisition of technology.

E. Organisations pay little attention to the process of change once a decision to acquire technology has been
taken.

Choose the correct answer from the options given below :

1. B only
2.C,Bonly
3. A, Conly
4.D, E only

1) 1

() 2

3) 3

(4) 4

fafafad 4 9 srid U &1 UgaH $ifog|

A. U S8 HagIRS UidyHi H deb-iie U faHes gidl 3|

B. AIH & 1T BTH g1 B dldd Y61 & (o1 deb-ih Hed-Yiord Tl H Jbil |

C. 3D AN & ATHIAD ArSd DI dh-1D DI Tid YT Dl ¢

D. dd-id & AT Y Ugd AHavadbaradl AR del ol gRyINd faar sr1-agu|

E. Al & Mgl &1 iy feie S & €18 W1 uRkad 31 Uichal R H & &d B

41 fau 7Tt fasdh eyl § 9 gl TR &l 94 Bifoiu|

1. $dd B

2. $dd C. B
3.hdd A, C
4.$ddD. E

1)1
(2) 2
3) 3
(4) 4

1[Option ID=40945] Question Description : management_management_setl_english_q62
2[Option ID=40946]
3[Option ID=40947]
4[Option ID=40948]

Sl. No.63
QBID:117063

Which of the following are considered as the “principal standards’ in the ISO series developed by the
International Organization for Standardization?

A, ISO 9000
B. ISO 9001
C. ISO 9002
D. ISO 9003
E. ISO 9004

Choose the correct answer from the options given below :

1. A, Band C only
2.B, Cand D only
3.C,D and E only
4. Aand E only

1) 1




) 2
3) 3
(4) 4

FrafaRad | 9 fbad! SiaRIgTa AT IR S 16 gRI [deid e H gHw A HHT S g2

A.ISO 9000
B.ISO 9001
C. ISO 9002
D. ISO 9003
E. ISO 9004

i fU U f[ddhedi © 9 gl IR &l 999 iU

1. FddA. B AR C
2. FFAB, C 3R D
3.%dd C, D3R E
4. %Had A 3R E

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40949] Question Description : management_management_setl_english_q63
2[Option ID=40950]
3[Option ID=40951]
4[Option ID=40952]

Sl. No.64
QBID:117064

Identify the correct statements in context of equity financing.

A. Borrowing limit increases as a consequence of increase in number of shares.

B. Ordinary shares are generally not redeemable.

C. Issue of new shares dilutes the EPS if the profits do not increase immediately in proportion to increase in
number of shares.

D. A company is not legally oblidged to pay dividend.

E. Ordinary shares are less riskier from investor’s perspective.

Choose the correct answer from the options given below :

1. C, E only
2.A,B,C,Donly
3.B,C.Donly

4. A, E only

1) 1

(2) 2

(3) 3

(4) 4




Sfepc]-fa< Uryur & gy © Uel HYH P UgdE Hilog|

A. IR B GBI H gl & IRUMHRGEY BU-8H H s |

B. HIYRUI R GHIC: Uided gl gid|

C. Iie 2Rl @1 9= H gl o 3Hurd J ari & i 9 afs 9el gidl dl 78 ARl & SR d-
341,09, geabl g oIl 8|

D. i3 HHI AH ¢ & U B U I 911 gl 6 |

E. Fdwel & gy I GI4Ru IR S SiRkdH d1d g1d 6|

= fau U fasedi § O Usl I BT 994 Hifou|

1. $dd C.E

2. %dd A, B,C,D
3.%ddB,C,D
4. hdd A, E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40953] Question Description : management_management_setl_english_q64
2[Option ID=40954]
3[Option ID=40955]
4[Option ID=40956]

Sl. No.65
QBID:117065

As per Du Pont equation for ROE, other things remaining constant, which of the following statements is false?

A. An increase in the net profit margin will increase the ROE.

B. A decrease in debt to asset ratio will increase the ROE.

C. A decrease in return on assets will decrease the ROE.

D. An increase in the average asset turnover will increase the ROE.
E. An increase in equity multiplier will increase the ROE.

Choose the correct answer from the options given below :

1. B only
2. C,D only
3. A.Eonly
4. A, C only
1
(2) 2
3 3
(@) 4




aﬂ"\faﬁg (ROE) & felU S Ui IRl & AR, dle 3 DR RR ¥e. dl Fafdafad # 9 & 1 hu
A g2

A. G 14 3Uid ¥ gl R3S, BT 9g1 &t

B. BUL: URTYRY 3urd # dHl 3R.3M1.3. &I dal |

C. UGl 9R yidary § &l 3R, 313, Bl geT |
D. {1 gRewft sfia< H df SR 3113, B dal <l

E. gfehct 1ureh H gfs 3R.3M1.3. bl dal &l
i faU U fahedl & U gl IR &I 999 Hifoiu|

1. $dd B

2. %dd C,D
3. Hdd A E
4.hdd A, C

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=40957] Question Description : management_management_setl_english_q65
2[Option ID=40958]
3[Option ID=40959]
4[Option ID=40960]

Sl. No.66
QBID:117066

Match List I with List IT

LISTI LIST II
High tolerance for ambiguity
A_ | Directive style I land an intuitive way of
thinking
Low tolerance for ambiguity
B. |Analytic stvle II |and an intuitive way of
thinking
< |#& . Low tolerance for ambiguity
& | Concrppintagls . and rational wav of thinking
e _ - |High tolerance for ambiguity
D. | Behavioural style v il et T ol s

Choose the correct answer from the options given below:

1.A-III. B-IV. C-I. D-II
2.A-III. B-IV. C-II. D-I
3.A-IV, B-III, C-II. D-I
4. A-II, B-1, C-IV., D-III
(1) 1
) 2
3) 3
(4) 4




T 1 91 T 11 DT A Hifore :

1[Option ID=40961]
2[Option ID=40962]
3[Option ID=40963]
4[Option ID=40964]

e < ?%H[%g BIGUGIRCACGE]
HAHT I LEIE
o LR R e ot
FPIUDR B HH HEW[I Ud i
i I o1 1 wew il
B g HH JieW[dl Ud fhd-
C. | siaurume el M- 51 e b ol
| sFErREal 8 3= wigwd vd fia
DGR Il | VA o ot v
i fau U fddhedi © 9 Il IR &1 994 Hifoie ;
1. A-IlTI, B-IV, C-I. D-II
2.A-III, B-IV, C-II, D-I
ALV, B-III, C-II. D-I
4. A1, B-1. C-IV. D-II
1) 1
(2) 2
3) 3
(a) 4

Question Description : management_management_setl_english_q66

Sl. No.67
QBID:117067

Match List I with List IT

RT3 (C"F“e“’s Ressonalit | 5 3o in ihislas dimenisind
actors)

A | Social boldness I. |Imagmnative Vs. Practical

B. | Abstractedness II. | Shrewd Vs. Forthright

C. | Private II1. | Controlled Vs. Casual

D. | Perfectionism IV | Venturesome Vs. Timid

Choose the correct answer from the options given below:

1.A-II, B-I, C-I, D-IV
2.A-1, B-IV. C-I. D-III
3.A-IV, B-II, C-I. D-III
4. A-1IvV. B-I. C-II. D-III
1) 1
(2) 2
(3) 3
(4) 4
YT 1S Ty Gl 11 T e DIy :
Tl 1 (Fed & AGded FRD) T 11 (yE Smam)
A | armrham (e ddr L | wIai® §91 AdeiiG
B | aHddl IL| IR M s ye
c. |Fei 111 | M S90S 9T
D._ | quldrarg 1v| |reiie §9H Hie
i< feu e famhedl © 9 gl 3R &1 994 Siflu ;
1. A-IlI. B-I, C-II, D-IV
2.A-I. B-IV. C-II. D-III
3.A-IV. B-II. C-I. D-III
4. A-IV, B-I, C-II, D-II
1) 1

) 2




3) 3
(4) 4

1[Option ID=40965]
2[Option ID=40966]
3[Option ID=40967]
4[Option ID=40968]

Question Description : management_management_setl_english_q67

Sl. No.68
QBID:117068

Match List I with List IT

STV it sty [HB% B (Hums (HE)
Applicatios)

Edge in terms of

A | Value I kkills, knowledge and
labilities

B. | Rareness 11| Teamwork

C. | Imitabitity i egemenmcnl

E programs

D. | Organisation V. Uiqor sy o

culture

Choose the correct answer from the options given below:

1. A-III, B-I. C-IV, D-II
2. A1, B-1V, C-IlI, D-I
3.A-II, B-IV, C-I. D-III
4. A-III, B-1, C-II, D-IV
1) 1
() 2
3) 3
(@) a
YT 1S Ty Gl 11 T e Sifeg
L Wmﬁaﬁ T 1 @ (@) S
A |5 % %E%gi@wm‘av
B. | fazadr 1 [grfed ar
C. | sl 111 | §Ifdd D0l HidshH
D_[@e v | fafee gfoerd 3 geid

=i fau T fadedi § U U1 IR Bl 999 Hifve :

1. A-III, B-1. C-IV., D-II
2. A1, B-IV, C-III, D-II
3.A-II, B-IV, C-I, D-II
4. A-III. B-1I, C-II, D-IV

(1) 1

) 2

(3) 3

(4) 4

1[Option ID=40969]
2[Option ID=40970]
3[Option ID=40971]
4[Option ID=40972]

Question Description : management_management_setl_english_q68

Sl. No.69
QBID:117069




Match List I with List IT

LIST I (Investment Decision rule) LIST II (Feature)
A NPV I | Insufficiently consistent
B. |Payback I1. | Highlv Inflexible
o | sk Basiivise e Bal@ce between flexibility and
consistency
D. | Accounting Returns IV. | Relatively consistent

Choose the correct answer from the options given below:

1. A-III. B-IV. C-I. D-II
2. A1, B-II. C-IV., D-II
3.A-III, B-II. C-IV, D-I
4, A-II, B-III. C-I. D-IV

1) 1

(2) 2

(3) 3

(4) 4

YT 1S Ty Gl 11 T e Sife :

1 (Fra=r- ot ) T 11 (Fa=raan)
A |Tadia L |emod =g g g@g
B. |Hdwamt IL |3i¥is 3™
C. |Fwe-uiaamn 11 |=30an SR iid | dqaq
D. |c@rufdaH V. | gmeaa gma

i faU U fddhedl § U g IR Bl 999 HIfeT :

1LLA-IO, B-IV, CI, D-I
2.A-I, B, C-IV, D-I
3.A-III, B-II, C-1V, D-I
4 A-Il, B-III, CI DIV

1[Option ID=40973] Question Description : management_management_setl_english_q69
2[Option ID=40974]
3[Option ID=40975]
4[Option ID=40976]

Sl. No.70
QBID:117070

Match List I with List IT

LIST I (Theory) LIST II (What Nation's do)
The range of products made or grown for export would]
A | Mercantilism I. |depend upon the relative availability of different

factors in each country.

Theory of Absolute

B. : II. | Gold and silver are the mainstay of national wealth
lAdvantage
Theorv of Comparative Countries should specialize in the
C. = P 111 jproduction of goods for which they have absolute
|Advantage
= advantage
5 et Bndowmert v Nations should produce those goods

for which they have the greatest relative advantage

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2.A-III, B-1II, C-I. D-IV
3.A-II, B-III. C-IV, D-I
4. A-IV, B-III. C-II, D-I
1) 1
) 2




3) 3
(4) 4

G 1 T1Y Gl 11 T fAae DI :

T st T @A IR

FaTd g M4 a1 Saifed aegafi &

A | arfregae 1 [t 39 g= H 3 (o Suee Tl
RARTTAE

=R P e
G B 3 agaHl & TG H

C. |gaeTer® an @ fagia | 1. [Afwa vl ARy e Se!
FRUs Ay ST e
SN Pl 31 T DI ITG BT

D. |&R® gigH IV. [aTfe forads o 3 ofcfia amder
e &

4 feu e famedt § 9 gl 3R &1 99 Sifofe ;

1. A-I, B-II, C-III, D-IV

2.A-III. B-1II. C-I. D-IV

3.A-II, B-III, C-IV, D-I

4. A-IV. B-III. C-II. D-I

1) 1

2) 2

(3) 3

4) 4

1[Option ID=40977]
2[Option ID=40978]
3[Option ID=40979]
4[Option ID=40980]

Question Description : management_management_setl_english_q70

Sl. No.71
QBID:117071

Match List I with List IT

sisc 4 LIST II (Strategy to achieve performance
LIST I (Acquisition ‘Play’) ( 5 : P
premium)
. L Use borrowing capacity and other
Acquire synergistic product/ : “ Sy
A b I |financial strengths to achieve an
imarket position z : 2 ;
immediate performance premium
Anticipate shortages and price increases
B Acquire a company with under I in the physical assets” value. Invest to
" utilized financial strength " lexploit the resource, using distribution
capacity.
C Acquire an underskilled I Achieve scale economies of distnbution,
" lcompany in a related industry " |production and technology
Applyv superior marketing technology and
D Acquire an underexploited v production expertise to enhance the
" Iphysical asset " |competitive position and performance of
the acquisition candidate

Choose the correct answer from the options given below:

1. A-III. B-1. C-IV, D-II
2.A-IV, B-II, C-I, D-III
3.A-III. B-IV. C-II. D-III
4 A-II, B-III, C-I. D-IV

(1)1

) 2

(3) 3

(4) 4




YT 1S Ty Gl 11 T e Sifeg
T 1 (SATRTE (3151) T 11 (@74 FroaTe T Ve U 63 &t
wiel (@ RGIIG)

TR TcId DY TG HiHad ®f I
TefdHards Iare/fausH ki
A L [@3 b [0 B0 o D &l 3R gl
R 1 aifsid & ity wifgaqat e Rt &1 uae &l
ifd® o § Jurfgd &1 R g9 §
B %”%W&@qﬁw IL [GETeR BT AT Td fAaRvl & BT T
(@3 U HHTeH Glgd § FHaE|

" Hafd I &F H U - - fIaur. IdTe- SR WS &f 3=

' [@1=Id Gad &Y= Bl 3o " [RE R §9d U @Al

. 3= [AUUH d%-1® U4 Jda [QRedl @l
D. ;{qﬁ M IREI | 1 gy aqformfe Trems o1 ore feuf
U4 HeRH g & fad 3ugnt

=i faU U fadhedl § U Tl IR &l 999 HIfoT :

1. A-III. B-1. C-IV, D-II
2.A-IV, B-II, C-I. D-III
3. AL, B-IV. C-II. D-III
4. A-II, B-III, C-I, D-IV

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40981] Question Description : management_management_setl_english_q71
2[Option ID=40982]
3[Option ID=40983]
4[Option ID=40984]

Sl. No.72
QBID:117072

Match List I with List IT

LIST I (Buyer’s Need

Assessment QJuestion) TR Eximple)

How much inventory of the product do
vou carry?

Have vou experienced any delays in
B. |Problem discovery question |[II |getring those materials from yvour current
suppliers?

What effects do the delavs in recerving
C. | Solution value question 111 fthe materials have on your production
costs?

If the rejection rate on vour quality

D | Sttuational question IV |inspection is reduced to under 1%, how
much would that save you?

A_ | Problem Impact Question L

Choose the correct answer from the options given below:

1. A-II, B-I. C-IV, D-III
2.A-1I, B-IV, C-III. D-I
3.A-1, B-III, C-II, D-IV
4. A-III, B-II, C-IV, D-I
(1) 1
(2) 2
(3) 3
(4) 4




YT 1S Ty Gl 11 T e Sifeg

T 1 (e A ,
TEHATY) T 11 sraffEa erd) 1

A | gH=gTEUE Uy L g_:}g;ﬁ ol YR Ade 3TUds e o

5 1 A0 39 IRl &I 0T &3 H dly
B. | qr=gr @relt Uy IL (a1 ohp o 37
C. | ST qad Uy 1L @&gﬁ%@mﬁmﬁwﬁ
, [SRETPT T 1% o I T HH [l oilell &
D. | fRufae=a uy IV. e o Sl

i fGU T [dded| H Y gl 3R &l 999 DI :

1. A-II, B-I, C-IV, D-II

2.A-II, B-IV, C-II, D-I

3.A-I, B-III, C-II, D-IV

4. A-III, B-II, C-IV, D-I

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=40985] Question Description : management_management_setl1_english_q72
2[Option ID=40986]

3[Option ID=40987]
4[Option ID=40988]

Sl. No.73
QBID:117073

Match List I with List IT

LISTY (Progect Netwark LIST II (Underlying meaning)
concepts)

: — Length of the longest path

S i I through the project network

It shows the time and cost when
fthe activity is fully crashed

It consists of a number of nodes
C. | Critical path III. [|and a number of arcs that
connects two different nodes
Taking special (costly) measures
D. | Crash point IV. o reduce the duration of an
activity below its normal value

B. |Project Network 1L

Choose the correct answer from the options given below:

1. A-II, B-IV, C-III, D-I
2.A-IV, B-III, C-I, D-II
3 A-IV, B-III, C-II. D-I
4. A-III. B-1. C-IV, D-II
(1) 1
(2) 2
(3) 3
(4) 4




YT 1S Ty Gl 11 T e Sifeg

T 1 (AT Aeas .
. ; T 1 (sAtEa ah |
RO "ged & Tald® o 0y
A |fEaramee I s
g 3MafY 3 ONd Udhe Bl g e
B. | ARG | L o ol e g i 21
39 H Rl qu 9l @1 G
C. |Pifapuy 111 [BmifEra B ot & fafirs srifiet &
EIEGIG]
[l B &l Al i b JHg
D. |3mga fig IV. [ 9 &9 &3 &g favy (@&
[3aTd |
< fau ¢ fahedl § 9§ Ul 3wk b1 99+ Hifulu ;

1. A-II, B-IV, C-III, D-I
2.A- IV, B-III, C-I, D-II
3.A- IV, B-III, C-II, D-I
4. A-Ill, B-I, C-IV, D-II
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=40989] Question Description : management_management_setl_english_q73
2[Option ID=40990]

3[Option ID=40991]
4[Option ID=40992]

Sl. No.74
QBID:117074

Match List I with List IT

LIST I (KM Model) LIST II (Approach)
A | Von Krogh and Roos [ |Sense-making
B. | Wug 11 | Semantic Network
C. | Monska snd Takeochi | | DrEanisaional
lepistemology
D. | Choo and Weick IV | Spiralling

Choose the correct answer from the options given below:

1. A-II. B-I, C-III. D-IV
2. A1, B-II, C-II, D-IV
3.A-III, B-II, C-IV., D-I
4. A1, B-II, C-III. D-IV
(1)1
) 2
(3) 3
(4) 4




YT 1S Ty Gl 11 T e Sifeg

Rl CASAGIEE)) =1 11 EEIon
A |9 oY 3R A 1 |y HEi
B |4 11 | 3efl-SreRsH
C. | aHmE SR g 111 | ST JH-Hw
D. (@ diRdwE IV. | Gttt

< fau 71U fdh et § 9§ Hel 3Tk bl 99+ Hifolu :

1. A-II, B-I, C-III, D-IV
2.A-I. B-III, C-II. D-IV
3 A-IIIL, B-II, C-IV, D-I
4.A-1, B-II, C-III, D-IV

11

(2) 2

3) 3

(4) 4

1[Option ID=40993]
2[Option ID=40994]
3[Option ID=40995]
4[Option ID=40996]

Question Description : management_management_setl_english_q74

Sl. No.75
QBID:117075

Match List I with List IT

LIST I (Entrepreneurship
Thinkers)

LIST II (Entrepreneural
manifestations)

Bamoul (2002)

Innovating firms are more
I |profitable than the non-
innovators

Geroski et.el. (1993) and
" [Leiponen (2000)

Entrepreneur 1s a marriage
broker between the what 1s
desirable from an economic
point of view and what 1s
profitable from technological
point of view

I

Timmons and Spinelli (2007

Entrepreneurship is a way of
thinking_ reasoning and acting
. [that is opportunity obessed,
holistic in approach and
leadership balanced

Burton Klein {1917)

In free market economies,
" jinnovaton is a necessity if a
firm wants to survive

Choose the correct answer from the options given below:

1. A-IV, B-I, C-II, D-II
2. A1, B-1V, C-III, D-I
3.A-I, B-1IV, CII, D-II
4. A-IlI, B-I, C-IV, D-I

1) 1

(2) 2

(3) 3

(4) 4




YT 1S Ty Gl 11 T e Sifeg

I 1 @ [eR) | ol 11 G et (=)
) TRIGP! G 37 (1993) . maﬁgﬁwég
(o TR (2000) [ e S

I
g [ T 11 o7 e it @ e i IR,
- EPoIU ¥ 1 U g« §dfd gl 8|
Had SINR fUchaeie H BH &

D. [§¢9 /g (1917) IV, (oo (STReiaa e) B &4 T eg

'-idltlliwﬁ'lidiiﬂdidl_gl

=i faU U fadhedl § U Tl IR &l 999 HIfoT :

1. A-IV, B-I, C-III, D-II
2.A-II, B-IV, C-III, D-I
3.A-I, B-1V, C-II, D-II
4. A-III, B-1, C-IV, D-II

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=40997] Question Description : management_management_setl_english_q75
2[Option ID=40998]
3[Option ID=40999]
4[Option ID=41000]

Sl. No.76
QBID:117076

Arrange the following steps of developing an organizational structure in sequence.

. Enumerate and group the activities of the enterprise consistent with the determined objectives.

. Assign the grouped activities to personnel. Similar functions should be combined into one position.

. Clearly define the objectives to determine the type, stability and basic characteristics of the organization.

. Determine the span of supervision, the types of organization, the basis of departmentation and pattern of
authority structure.

E. Assess the capacities and abilities of human and other resources at the disposal of enterprise. Adapt the

organization in sync with the reality.

ODnwpw

Choose the correct answer from the options given below :

1.C,A,B.D,E
2.A,C,B.E.D
3.C;B.AE D
4 E.D.C. A B

(1) 1

(2) 2

(3) 3

(4) 4




fer <l HiTaTi-e SR fahry & FufeiRad =Roll &1 3iIhd H HalRyd Hifoiy -

A. A% I5=al & 91y T91d i dicl 39H & feharhardl &l 0T Ud 3¢ THg o a1

B. 9Yg g Tafafadl &1 fordt H=rid] &1 9io=1 | GaH Wb U [ § 3ds ol =i

C. W6 & YbR, [RURdT Td Hd [avarsdi &1 Huia & g 3ol &1 Wy &Y U YRHINT gl

D. [FR1&0r 3@, 189 & bR, [aHTEHRUl & YR UIMYHR 341 &1 Yiaed YR S|

E. 399 & [Hue™ d 911d Ud 3 did! ®1 &diedi ud araarsil o1 FuiRd &1 64 &1 396 gurd &
YOioE H 3g4/™T §H T |

1= feg e faedl # 9 et SR &1 994 SIS
1.C.AB.D,E
2.A,CB.ED
3.C,B,AE.D
4. E,D,C.A B
(1) 1
2) 2
(3) 3
4) 4
1[Option ID=41001] Question Description : management_management_set1_english_q76

2[Option ID=41002]
3[Option ID=41003]
4[Option ID=41004]

Sl. No.77
QBID:117077

Arrange the following steps of Strategic Human Resource Management in the logical sequence.

A. Improve participative management.

B. To promote teamwork.

C. Shift focus from statutory participation to total participation.

D. Achieve group cohesiveness by inculcating participative management.
E. To achieve excellene in human resource management.

Choose the correct answer from the options given below :

1. ED BAC
2.E,B,D,A,C
3.B,ADE.C
4. A,C.E,B,D

1) 1

(2) 2

(3) 3

(4) 4

IUHITIP A TO1eH UeeH & Fafefad 9 of 3ad $F # gt i

A. GEHFT Uay= H GUR T

B. AI¥[g B bl UHIgd Bl

C. A1+ FHIATA o FHI GEHIRT IR Bl g RN Bl
D. HgHF Yt & Hdf-1d21 gRT g G dl UItd B

E. AHd G4 Uae H Ipydl ifold o

i fGu T [dsedl § Y gl 3R &l 999 BIfvu|

R B
npwo
Mmoo w
WP

wHONONe!

=
B w I i

) 1




(2) 2

3) 3

(4) 4

1[Option ID=41005] Question Description : management_management_setl_english_q77
2[Option ID=41006]

3[Option ID=41007]
4[Option ID=41008]

Sl. No.78
QBID:117078

Sequence the following steps in the preparation of a versatile and seasoned business plan.

A. Industry and market analysis.

B. Operations, marketing plan and financing.
C. Company and management team profiling.
D. Risk and contingency analysis.

E. Executive summary.

Choose the correct answer from the options given below :

(4) 4

SgHE! U S+l SHag FISH B ORI H 3 aTdl FEfaRad =Rul o o | IR -

A. 31T UG S9IR fa=eyor

B. Y41, faYuH o1 U fa<iia

C. Y-l Ud Ud e gd IRd-F=01 S1 (UhTEie)
D. SIRIA TG 3B RAB I (2w

E. TGN YR

= fau T fadedl § U g1 IR &1 999 iU |

1. AB,D,C.E
2.0, BiA D E
3.3EC.AB.D
4. DA, C.B.E

(1) 1

) 2

(3) 3

(4) 4

1[Option ID=41009] Question Description : management_management_setl_english_q78
2[Option ID=41010]
3[Option ID=41011]
4[Option ID=41012]

Sl. No.79
QBID:117079




Arrange the following in the increasing (higher) order of employee participation in decision-making.

A. Joint management councils.

B. Workers’ representative in the board.
C. Works Committees.

D. Workers’ participation in management.
E. Workers’ share in equity.

Choose the correct answer from the options given below :

1.C;AED.B
2.A.C,D.B.E
3.C,A.B,D.E
4.C,A.D.E.B
1) 1
() 2
3) 3
(4) 4
fafaRad &1 fHofa ufchar § ARt G HIRTd & S¢d H9 H IR HIf -
A. UG Use uRNg
B. dls H HIHTRI &1 ufafAfe
c. o1 afafaar

D. Ua¢H H BIRIRI Bl GgHIRTd
E. SHIRI DI WiHd H YR

HId fau T fadh el § U Tat 3R &I 994 o]
1.C,AED.B
3 A CDERE
3. C.ABDGE
4.C,A,D.E,B
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=41013] Question Description : management_management_setl_english_q79
2[Option ID=41014]
3[Option ID=41015]
4[Option ID=41016]

Sl. No.80
QBID:117080

Following are the steps followed by finance manager in procurement of a loan for working capital. Arrange them
in a proper sequence.

A. Co-ordinating the verification of assets.

B. Submission of loan proposal.

C. Estimation of Working Capital Requirements.
D. Creation of charge on Assets.

E. Document Execution.

Choose the correct answer from the options given below :

1.AD,B.C.E

2.C,B.AE. D

3.A,BECD

4B, A EC,D
(1) 1

) 2




3) 3
(4) 4

STeRiE ot & foe 01 & wrour & fa Weied gRT SFEUTeH fahd STH ard 19 &1 3fad o6 o saafeyd
DI

A. GREURT & AT DI G DAl
B. 3501 U9 T 3 Y

C. DRI Yoil ST dredi &1 Aha
D. GREUfT IR YHR @Tar

E. SIFH-C (w1e

A fau T famedl § g Ul 3R &l 94+ Hifog |

1.
2.
3

Pdtbﬁiﬁ
oo
mmp w
npmA
0900 m

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=41017] Question Description : management_management_setl_english_q80
2[Option ID=41018]

3[Option ID=41019]
4[Option ID=41020]

Sl. No.81
QBID:117081

Identify the correct sequence of activities involved in the process of buy back of shares.

A. Letter of offer to the shareholders.

B. Opening of bank account.

C. Approval for Extra-ordinary General Meeting.
D. Convening board meeting.

E. Declaration of Solvency.

Choose the correct answer from the options given below :

.E;A.B.C D
2.C,B,AE.D
3D, C.E.A.B
4.B,C,AE.D

)1

(2 2

(3) 3

(4) 4




QERT & Ufdshd Dt ufdhar # =i g ard feharbardl & Fgt 2shH 1 Udl a5y :

A. YIURSI & el UKTT (3HTHR)-UF
B. dH@TdT GAdTHI

C. STYTYRU YA HIfT o Tgfd
D. Sie-HiféT &1 e

E. BU-RYT DI IGuyon

HId fau e fadh el § U Tat 3k &I 994 Bifog|
1.E,A.B,C,D
2B AE D
3D, CE AR
4.B,C,AE,D
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=41021] Question Description : management_management_setl_english_q81
2[Option ID=41022]
3[Option ID=41023]
4[Option ID=41024]

Sl. No.82
QBID:117082

Arrange the following steps of six sigma process in a sequence.

A. Discover variation relationship for the vital variables and establish operating tolerances on each of the vital

variables.

oW

Validate measurement system, methods and procedures, establish the current processes’ capability.
. Validate the measurement system’s ability to produce repeatable data; determine the capability of the process

to control the vital variables, implement statistical process control on the vital variables.
D. Select the critical-to-quality characteristics and define the required performance standards.
E. Define upper and lower performance limits; identify sources of variation; screen potential causes of

variation to identify the vital variables needing control.

Choose the correct answer from the options given below :

-

O o0

L.
2.
3

o

W o O

Fip
>

alt
oomy

(1)1
() 2
(3) 3
(4) 4




vy (o) R wichan & fafafad =Ron &1 o H oadiRd $ifey -

A. Hgdyul @RI gq YR Y& DI Wisl Ud Hgdyul =R1 H ¥ U WR Y=EId-dS JigWldl RI19-

B. A9 YuITel!, faferil ud uishardl &1 ae S, QAT TishaT Gedl 1 R S|

C. HIYT YUITe! &1 YRI SHitbs I B o, &Hdl I a8 §TH1, Hgeayul =1 &l [FRIEId & 8q
Ulch a1 1 Qe ol FeiRd 31, Agaqul =R 1R =] ufshan = fobarf-ad o

D. shifcie & Turd dreil faRivdrail &1 9a ud mféd fFsare Al &1 aRHIfNd Bl

E. 3= Ud (9 fFsare s dimrsii o1 aR{iiNd 1, JaR0r & didi o1 udl @1, Hazomdel $@ Agay
=RI BT IdT A B TERUT & GHIHSHRUN &1 Sird T

=< f3U ¢ fdhedl § 9§ el 3R I 99 BHifu|

1 8
2. ,C
3 .C
L

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=41025] Question Description : management_management_setl_english_q82
2[Option ID=41026]

3[Option ID=41027]
4[Option ID=41028]

Sl. No.83
QBID:117083

Arrange the following steps of personal selling process in a sequence.

A. Making an appointment with customer to establish rapport.

B. Gathering relevant information about the prospects and their needs to plan sales presentation.
C. Handling customer’s objections related to price/value/functionality of the product.

D. Discovering, clarifying and understanding the buyer’s needs.

E. Gaining buyer’s commitment to action.

Choose the correct answer from the options given below :

1. D, A B,CE
2.AB,C.D.E
3.B,AD . CE
4 E.A.B.C.D

(1) 1

) 2

(3) 3

4) 4

faaTd fasa ufthar & Fafetaa =oi &1 wa § gaiforg sife

A. SUHITT Y HUdh 10 B3 g e b1 947y (giferd 1

B. fdshal Ue=i- & e o {0 GHIEHIT SR 316! ATahdisi & R H RS a1 Uha S|
C. 31 DI B/ 3R SUTIRTAT & Yoo & Iuqniiardiaf ! ufad] &1 e |

D. 131l & el BT Il ST, TETHR0T AT 3R TASHT|

E. foban & gid sl o1 Ufdegdl Ured S

4 fau 71T fash eyl # 9 Tgl SR &l 99 Bifou|

iR
P B

> oy
NP

P
WYUNw
O m o




(1) 1

2) 2

3) 3

4) 4

1[Option ID=41029] Question Description : management_management_setl1_english_q83
2[Option ID=41030]

3[Option ID=41031]
4[Option ID=41032]

Sl. No.84
QBID:117084

Sequence the following in order to eliminate waste and inefficiencies in the lean manufacturing.

A. Seiso

B. Shitsuke
C. Seiri

D. Seiketsu
E. Seiton

Choose the correct answer from the options given below :

11
2) 2
(3) 3
(4) 4

e Yafdia i & eqeqg SR s ade o 2 B od Fufafad < udl on d 9aifsa Sifoe -
A, T
B. fircges
c. O
D. RIh
E. fe

=< fau 71U fahedl § 9§ Uel 3R &I 99+ Hifu|

1.B.C.E.D. A
206810 BE
3.JE.D,B,.C. A
4 C,E,A,D.B

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=41033] Question Description : management_management_setl_english_q84
2[Option ID=41034]
3[Option ID=41035]
4[Option ID=41036]

Sl. No.85
QBID:117085




Identify the correct sequence of steps involved in decision making for change of technology.

A. Conducting initial comparisons of alternative technologies.
B. Evaluating the state of present technology.

C. Listing down the probable post implementation issues.

D. Financial feasibility analysis of proposed technology.

E. Identifying the learning requirements.

Choose the correct answer from the options given below :

1. D C, A EB
2.B.AED C
3.3)A.B,C,E.D
4.D.E A B,.C
1) 1
) 2
3) 3
(4) 4

dep-iIeh GRdcH & g (ufg o &1 uichan & GHIied =Rl & Hel 3IhH Pt Ugdr it

A. dbicld dh-iD] DT UIUHD Ja-TdD T B
B. 9dHM b1 1 U D1 Geich HAl

C. foharag & d1q & el FHEel o Yalgs DAl
D. WdIfdd deb-iieb ] faiia eagridl fageyur

E. SHITH Gl H g

HId fau T fadh el § U Tat 3R &I 994 o]
1.D,C,A,E,B
B AEDL
3.A,BCED
4.D.E,A,B,C
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=41037] Question Description : management_management_setl_english_q85
2[Option ID=41038]
3[Option ID=41039]
4[Option ID=41040]

Sl. No.86
QBID:117086

Given below are two statements :

StatementI : When I say that I like my organization, I am expressing an attitude towards my organization.
Statement II : We can control our behaviour in a way that does not reflect our beliefs and values.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement II is correct
1) 1
(2 2
(3) 3
4) 4




CIERAEZIC AR 1

BYTI : Ofd H g Dol § [ 7 30 G713 1 Ui Bl g, dl 7 (0 713 & Ufet ifirgfi 1
S oed FRATE |

DY B Y HdgR &l 39 &9 H IR o gavd ¢ forgd Ydd gan fayrdi ud 7l 9 ufafdfaa
TRIgId Gl
SR HY & 3cld H, Hid [T MY fabedi # I Tad Iqgad IR DI 98- DI :

1. FUF IR I GHI 9T ¢

2. FYF 13RI aHl 3Td &

3. FYF 19 g, Wi HUT T A &
4 FUFI3NA G, dAFTHYT N T o

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=41041] Question Description : management_management_setl_english_q86
2[Option ID=41042]
3[Option ID=41043]
4[Option ID=41044]

Sl. No.87
QBID:117087

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) :  The objective functions in business organizations are complex requiring the processing of large
volume of data.

Reason (R): Al based non-linear models can solve the problems of arriving at a dynamic solution to business
problems.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is incorrect.
4. (A) is incorrect but (R) is correct.
1) 1
(2) 2
3) 3
4) 4

19 S DU TG B : Ub AHDUT Assertion (A) B T H [eidd & dl U 3D HRUI Reason (R) b &Y
"

fUDYT (A): B IS G713 T a&7d foh a1 Hedry Sifed gid & 3R 3¢ D! & URI uRA &
RG] i SaLgHd gl ol

DR R : HIUIRIS FHarafl & o= GamEi 0@ Yga- & G &1 U.a0g. (A L) Heid fas
isd gd IR Yhd g |

SWRIFT HYT & 3Tcllb H, 71 [GT T f[dbetl # ¥ 9ad Sugdd IR 1 98 Hifoy

.(A) 3R (R) QM W&l § 3R (R). (A) P Uel TRAT & |

-(A) 3R (R) &I 981 8, Wi (R), (A) B! Ug! AR -Tel g |

(A) UET R, Af T (R) TET T B
(A) ST 181 €, 9feT (R) TET

L B R

i




(1) 1

(2) 2

3) 3

4) 4

1[Option ID=41045] Question Description : management_management_set1_english_q87
2[Option ID=41046]

3[Option ID=41047]
4[Option ID=41048]

Sl. No.88
QBID:117088

Given below are two statements :
StatementI :  The product of two regression co-efficients, b, and by, equals 1 and can not exceed 1.

Statement I : The average of two regression coefficients ((bxy+byx)/2) is always greater than the correlation
coefficient, ryy.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
1) 1
2) 2
(3) 3
4) 4

CIERAEZIC AR I
DY : G YITHA UMD by 3R byx BT UHG 2 b SRR ¢ AR Tg 1 Y 34U gl gl Ubdl 5|

DYTI : < I U BT S (bry+byx)/2) HGHSY TOTP 1, T Fad 3ifiH BI1 8
SWRIFd HYF & 3HTdllb |, =< ST fab el # ¥ a8 Sugdd 3R &1 94 Hifoly :

| HYT IR I SH 9d ¢
2. HYT I AR I 3T
3.%YT I 9 g, Al dYT I 3T ©
4.FYT I o e, AP HYT I ad 8
1) 1
(2) 2
3) 3
4) 4

1[Option ID=41049] Question Description : management_management_setl_english_q88
2[Option ID=41050]
3[Option ID=41051]
4[Option ID=41052]

Sl. No.89
QBID:117089




Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) :  If the securities with less than perfect negative correlation between their price movements are
combined, portfolio risk can be reduced significantly.

Reason (R): The term with negative correlation has the effect of reducing the computed value of total portfolio
risk, given other terms that are positive.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is incorrect.
4. (A) is incorrect but (R) is correct.
1) 1
2) 2
(3) 3
4) 4

14 Gl YT [GUTY § : T HIHBYUA Assertion (A) P Y H (AR g dl GERT 3¥D BRUI Reason (R) b FY
H:

STHBY A : ale ufayadl & A PIAd a1 Ui BUTHSD 0D & HH g1 dl Uidhiferdl SiRkdA 3l
qfeb &1 9 HH fobar off ebdl 5|

DRUIR : BUTHS qUlD dld Ue H Sd YIEhITer SR & uRSbierd Hed o1 9er ardl {9 U/l §idl 6,
e fau T o= ue 41D gl

QURIGd HYA & ATedld H, i fGU T fdbedl § 8 a8 Iugdd IR P =98 By

(A) 3R (R) GFI Tal § 3R (R), (A) B! sl AT g |

.(A) 3R (R) &F1 g1 8. Wi (R). (A) B! Hel RAT ol g |
(A) TS 8. A (R) Tel Tel B
(A)TET T8 . AfdT (R) TR B

(1)1
() 2
(3) 3
(4) 4

b =

=

1[Option ID=41053] Question Description : management_management_setl_english_q89
2[Option ID=41054]
3[Option ID=41055]
4[Option ID=41056]

Sl. No.90
QBID:117090

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  Entrepreneurship has emerged as a focal point of policy in the majority of countries.
Reason (R): Entrepreneurship contributes in job generation, innovation and promotes social cohesion.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is incorrect.
4. (A) is incorrect but (R) is correct.
11
2) 2
3) 3
4) 4




19 S DU TG B : Ub AHDUT Assertion (A) B T H [eidd & dl U 3D HRUI Reason (R) b &Y
A

STHDYT A : IYAT HUHIR G H A & Hg fdg & 9 T IS G- 3Rf ¢ |

PRUIR : I AID Ual B, TER UG GHTIH THYIA @1 9¢1aT o § aHTeH <l ol

JURIGd HYH & 3ATedld H, i fGU T f[dbetl # 8 a8 Iugdd IR B =98 HIfey

L(A) 3R (R) AT HE § SR R, (A) P WS MBI
(A) 3R (R) aFI UL €, AP (R), (A) BT TS Ram 78] B
.(A) 98l &, Al (R) Hel 7ol o
.(A) Te! T8l &, dfh (R) T8I &1

(1)1
(2) 2
3) 3
(4) 4
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Read the following passage carefully and answer the questions that follow:

There has been much froth and foam across rooms and boardrooms regarding the ethics, legality and
appropriateness of the practice of working for one organization while also taking up extra responsibilities and
jobs with another. As a trend, it is becoming commonplace in the IT and ITeS space. This is welcome. It makes
sense to encourage more flexibility to employees if these firms want to move up the value chain. So, employers
should accept the reality and use it to their advantage.

But genuine concerns against ‘side-hustles’ must be addressed. During the pandemic, the IT sector swiftly
adapted to work from home (WFH). and professionals furthered their professional practice. Many preferred
continuing WFH. But that raised the suspicion of many employers about workers taking up a second job to earn
more. Meanwhile, a sharp rise in demand for IT professionals with new skills, and their shortage, widened the
demand supply gap. Those who could not cope with the expectations — at the entry or middle levels — were fired.
But the gig economy provides choices and added competition to both employer and employee. Trust is a core
issue. Conflicts of interest and intellectual property rights violations are non-negotiable. Other aspects — fatigue
impacting productivity, short-term vs long-term engagements in two jobs, skill acquisition. difficulty in
monitoring beyond delivery of a defined output, the challenge to objectively measure output for a given
compensation, peer-pressure, industry trends in employment contracts — also influence the attitude towards
moonlighting.

But IT professionals can’t be treated as captives. The industry must set the bar for high performance and
productivity, yet in trusted working conditions that rewards fairly and recognizes performance and skills in a
transparent way. A fair and broad-based definition of moonlighting must be included in the employment contract.
A sound HR policy anchored in ethical management principles will ensure that there is no need to howl at moon-
lighting.
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The practice of working for one organization while also taking up extra responsibilities and job with another
requires:

A. Trust

B. Conflict of interest.

C. Stagnation of employee growth.

D. Employees adding limited value to their parent organization.
E. Intellectual property rights.

Choose the most appropriate answer from the options given below :

1. A,B. E only
2.A.C.D only
3.B.D.E only
4.A.B. C only
1) 1
) 2
3) 3
(4) 4

T 16 H B Hd §U GO W6 DI 1A IRl ol 3R Sid B Pl Hgl [y Suféd g :

A. fagyra

B. fedl @1 edrId

C. HHAR Udles;, BT 3804

D. HHATRAT GRI AT W1 H A Jed ge- 31
E. difad Hual 3fgaR

At feu U famedl § 4 Ugl 3R &l 99+ Difoig|

1. $hdd A, B, E
2. Hdd A, C.D
3. $ddB,D.E
4. HddA. B, C

1)1
(2) 2
(3) 3
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Read the following passage carefully and answer the questions that follow:

There has been much froth and foam across rooms and boardrooms regarding the ethics, legality and
appropriateness of the practice of working for one organization while also taking up extra responsibilities and
jobs with another. As a trend, it is becoming commonplace in the IT and ITeS space. This is welcome. It makes
sense to encourage more flexibility to employees if these firms want to move up the value chain. So, employers
should accept the reality and use it to their advantage.

But genuine concerns against ‘side-hustles’ must be addressed. During the pandemic, the IT sector swiftly
adapted to work from home (WFH). and professionals furthered their professional practice. Many preferred
continuing WFH. But that raised the suspicion of many employers about workers taking up a second job to earn
more. Meanwhile, a sharp rise in demand for IT professionals with new skills, and their shortage, widened the
demand supply gap. Those who could not cope with the expectations — at the entry or middle levels — were fired.
But the gig economy provides choices and added competition to both employer and employee. Trust is a core
issue. Conflicts of interest and intellectual property rights violations are non-negotiable. Other aspects — fatigue
impacting productivity, short-term vs long-term engagements in two jobs, skill acquisition. difficulty in
monitoring beyond delivery of a defined output, the challenge to objectively measure output for a given
compensation, peer-pressure, industry trends in employment contracts — also influence the attitude towards
moonlighting.

But IT professionals can’t be treated as captives. The industry must set the bar for high performance and
productivity, yet in trusted working conditions that rewards fairly and recognizes performance and skills in a
transparent way. A fair and broad-based definition of moonlighting must be included in the employment contract.
A sound HR policy anchored in ethical management principles will ensure that there is no need to howl at moon-
lighting.
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Hayd Hgl ¢ | [5dl & diF chr1d difad Gual HUBR B Jead- SURBIH § | 39D =T GO UG 6 -
JATGehl IR YD UHTd, 3 Siiel H feudbiicres eyl a-H drddlicres Feaudl, BIRrd i, FeiRd ffa
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Given below are two statements :

Statement I : The practice of moolinghting is increasing because IT professionals are not being rewarded
fairly.
Statement I : The contents of employee contract have precisely defined the moolighting.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement IT is correct
1
(2) 2
(3) 3
4 4

EIEICRIE ACRI L

DY . TAARCT D DI AdeR DI YU 9¢ ol & i Ja-T1 U] U= bl 3fd =0 Y
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3. FYF 19 g, didhd U I3 §
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1) 1
) 2
(3) 3
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Read the following passage carefully and answer the questions that follow:

There has been much froth and foam across rooms and boardrooms regarding the ethics, legality and
appropriateness of the practice of working for one organization while also taking up extra responsibilities and
jobs with another. As a trend, it is becoming commonplace in the IT and ITeS space. This is welcome. It makes
sense to encourage more flexibility to employees if these firms want to move up the value chain. So, employers
should accept the reality and use it to their advantage.

But genuine concerns against ‘side-hustles’ must be addressed. During the pandemic, the IT sector swiftly
adapted to work from home (WFH). and professionals furthered their professional practice. Many preferred
continuing WFH. But that raised the suspicion of many employers about workers taking up a second job to earn
more. Meanwhile, a sharp rise in demand for IT professionals with new skills, and their shortage, widened the
demand supply gap. Those who could not cope with the expectations — at the entry or middle levels — were fired.
But the gig economy provides choices and added competition to both employer and employee. Trust is a core
issue. Conflicts of interest and intellectual property rights violations are non-negotiable. Other aspects — fatigue
impacting productivity, short-term vs long-term engagements in two jobs, skill acquisition. difficulty in
monitoring beyond delivery of a defined output, the challenge to objectively measure output for a given
compensation, peer-pressure, industry trends in employment contracts — also influence the attitude towards
moonlighting.

But IT professionals can’t be treated as captives. The industry must set the bar for high performance and
productivity, yet in trusted working conditions that rewards fairly and recognizes performance and skills in a
transparent way. A fair and broad-based definition of moonlighting must be included in the employment contract.
A sound HR policy anchored in ethical management principles will ensure that there is no need to howl at moon-
lighting.
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As per the given passage, those employees who could not meet the skill gap were.

1. Demoted
2. Trained
3. Transferred
4. Discharged
1) 1
(2 2




3) 3
(4) 4
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Read the following passage carefully and answer the questions that follow:

There has been much froth and foam across rooms and boardrooms regarding the ethics, legality and
appropriateness of the practice of working for one organization while also taking up extra responsibilities and
jobs with another. As a trend, it is becoming commonplace in the IT and ITeS space. This is welcome. It makes
sense to encourage more flexibility to employees if these firms want to move up the value chain. So, employers
should accept the reality and use it to their advantage.

But genuine concerns against ‘side-hustles’ must be addressed. During the pandemic, the IT sector swiftly
adapted to work from home (WFH). and professionals furthered their professional practice. Many preferred
continuing WFH. But that raised the suspicion of many employers about workers taking up a second job to earn
more. Meanwhile, a sharp rise in demand for IT professionals with new skills, and their shortage, widened the
demand supply gap. Those who could not cope with the expectations — at the entry or middle levels — were fired.
But the gig economy provides choices and added competition to both employer and employee. Trust is a core
issue. Conflicts of interest and intellectual property rights violations are non-negotiable. Other aspects — fatigue
impacting productivity, short-term vs long-term engagements in two jobs, skill acquisition. difficulty in
monitoring beyond delivery of a defined output, the challenge to objectively measure output for a given
compensation, peer-pressure, industry trends in employment contracts — also influence the attitude towards
moonlighting.

But IT professionals can’t be treated as captives. The industry must set the bar for high performance and
productivity, yet in trusted working conditions that rewards fairly and recognizes performance and skills in a
transparent way. A fair and broad-based definition of moonlighting must be included in the employment contract.
A sound HR policy anchored in ethical management principles will ensure that there is no need to howl at moon-
lighting.
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Moolighting encourages

A. Commitment for the organization.
B. Flexibility to employees.

C. Adding skills.

D. Employee turnover rate.
E. Work from home.

Choose the most appropriate answer from the options given below :

fi:
2.
3.
4.
(1) 1
(2) 2

3) 3
4) 4

A. B, Conly
B, C, D only
A, D, E only

, C,E only

AT Tiefed HRdl g :
A. T34 & Ufd widegdl

B. HHAIR] &1 d=eiedl

C. DI gL

D. FHART eH3{laR &
E. TR I & fere

i fau U fadedi § 9 gl IR &1 999 Bifviu|

1.FddA.B.C

2. $ddB.C.D

3. Hdd A.D.E
4. $9dB.C.E

1) 1
(2) 2
(3) 3
4) 4
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Read the following passage carefully and answer the questions that follow:

There has been much froth and foam across rooms and boardrooms regarding the ethics, legality and
appropriateness of the practice of working for one organization while also taking up extra responsibilities and
jobs with another. As a trend, it is becoming commonplace in the IT and ITeS space. This is welcome. It makes
sense to encourage more flexibility to employees if these firms want to move up the value chain. So, employers
should accept the reality and use it to their advantage.

But genuine concerns against ‘side-hustles’ must be addressed. During the pandemic, the IT sector swiftly
adapted to work from home (WFH). and professionals furthered their professional practice. Many preferred
continuing WFH. But that raised the suspicion of many employers about workers taking up a second job to earn
more. Meanwhile, a sharp rise in demand for IT professionals with new skills, and their shortage, widened the
demand supply gap. Those who could not cope with the expectations — at the entry or middle levels — were fired.
But the gig economy provides choices and added competition to both employer and employee. Trust is a core
issue. Conflicts of interest and intellectual property rights violations are non-negotiable. Other aspects — fatigue
impacting productivity, short-term vs long-term engagements in two jobs, skill acquisition. difficulty in
monitoring beyond delivery of a defined output, the challenge to objectively measure output for a given
compensation, peer-pressure, industry trends in employment contracts — also influence the attitude towards
moonlighting.

But IT professionals can’t be treated as captives. The industry must set the bar for high performance and
productivity, yet in trusted working conditions that rewards fairly and recognizes performance and skills in a
transparent way. A fair and broad-based definition of moonlighting must be included in the employment contract.
A sound HR policy anchored in ethical management principles will ensure that there is no need to howl at moon-
lighting.
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T HIRM G&fdT dTcl HATRAI B HITT H doll 315 3R 3T HH| b HRUHART-SATY[d b did b SHeRTd S|
ST | URIHS I1 HerH SRI 0ROl -Tgi Uil ¥g 35 Mebra faam 1am| gdd GHIa-gu () srdfoade
fiaaT 3R PHAR], <1 T fdbea=a iR Heifad gfdeayl o 3awR yar ovdl 71 59 fayra s
Hayd Hgl ¢ | [5dl & diF chr1d difad Gual HUBR B Jead- SURBIH § | 39D =T GO UG 6 -
JATGehl IR YD UHTd, 3 Siiel H feudbiicres eyl a-H drddlicres Feaudl, BIRrd i, FeiRd ffa
T D T R B SR (PRI, et w3 aeafs it 7o &1 9, Saeiy aam,
T ST H Hfdarenid AseR & a gt gaansfe (@@ 9 sifteh BAf # Ub 91 o1l B30 & ufd J91gid
TR YHTd STeTd & |

| G U URIaR] & T Sl S HagR ol [l off ebdll § | 3= DRI FsIe 3R Iareahdl
od HRIURd o gH U uRexRlT dlid I el ofiR i (eq1e- q1 I=dl 1 ARIdl Ul Widiigd 6
! faye-ita R axiradl & WY IERT gRT U G w1 (Heffed o1 St =ifg el JAsHTR wfder # grargid
1 781 3R 1T IR 1 g fobar ST =1feq | wee & i § e U Haftfd #d dare
Hifd g8 gHfgd St &1 garge W die-faarg T 81

The practice of ‘moonlighting” is

1. Equally applicable in all industries
2. Ethical
3. Adds value to the organization
4. Legal and enforceable
1) 1
(2 2




3) 3
(4) 4

AT &1 61l HIgR © -

- IERT H 9HF =0 9 Suiig

: =
. TG DT Hed Hafed HeT 8
4. 341 SR Yac-a

1) 1

(2) 2

3) 3

4) 4

L S
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Read the following passage carefully and answer the questions that follow:

Indian aviation will fly out of pandemic-induced fare bands with some of its heaviest losses behind it. Indian
fliers have also been through a bout of technical glitches that the authorities have traced back to aircraft not
having enough certifying manpower and flying with the minimum permissible list of defective equipment. A
strong festive demand could reverse the sequential declines in air travel during the ongoing lean season. The
removal of airfare caps coincides with a recent softening of jet fuel prices which, however, remain elevated.
Freedom to pass on the biggest cost component to fliers should improve the financial metrics of airlines. One is
keeping one’s fingers crossed and seat belts buckled.

The industry is witnessing a round of capial infusion that also affects the competitive intensity. The Tatas are
consolidating the splintered market share of the group’s various airlines, and SpiceJet is considering a stake sale
to raise funds. Market leader Indigo expects its strong revenue performance will lead it back into profits soon.
Although the industry’s air traffic yields have surpassed pre-pandemic levels, fuel costs and a declining rupee
could subdue earnings. Newly opened up foreign routes are likely to witness stiff competition. The launch of
Akasa Air and resumption of operations by Jet Airways will increase demand for airline employees. Air India is
restoring salaries to pre-Covid levels.

Industry-wide losses are expected to fall sharply this year as Indian aviation enters another phase of growth.
India is among the fastest growing aviation markets in the world and has a lot of catching up to do in terms of the
size of its commercial aircraft fleet. Given the country’s traffic growth projections, Indian airlines are likely to
acquire more clout as aircraft buyers. The government, on its part, has a high budget for decongesting airports
and is encouraging the development of the domestinc aircraft maintenance industry. As India’s airlines fly out of
the current cloud bank, sunny skies await.

ﬁqﬁf@ﬁﬁqﬁsﬁ?:ﬂ%ﬁqﬁuﬁ%ﬁw

HRAG 358 HMRI-SId fhrar <31 9 €1gR b d 31| & Jad R JHar Ui g S|
YR faar g o 9gd IRt ddb-iot Teafedl 9 ToR g [SHd Hid & wu H a1yl 3 argarHi &
YUV g HFd SH1EH] 1 Uaid IUasdl § HHT 3R argarl gRTYAqH 04 Yl & @ER1E 341 & 91y
35 I fafgd fan 81 3w Tt a1 SR # 81 <8 pads R1ae &1 dieRi & d19H § g arefl Hogd |
el Hebil o | §aTs-IhRIT Bl I=-HIHT & §eTU S o 1Y 51 gl 81 H Slc-34- & Jed | Hl HH! 3Rl g,
eI g onfl 3l B | Had 98 ANTd-3Haud] 1 gals A1l IR RIFIRT B3 1 WAl 4 350
HHR B fai STael Gert | 39 T | 3RIPIY §1H TR i =iy 1R

29 I doil-Fu=A Haw &1 o ue <R 94 381 ¢ o/ sua! wiaegsicrs gear o uuifdd g gl g
T 9Hg 31Ul fafHd arg-ulkdag- &t +fal # [ddl a1oR &1 [giaIRal & Gafdd #3616 3R
Trggsic Yol Sier @ e Wit &1 U g8l do R f[qaR S E1 & | d6IR DI Agcd PRI Sl i
g MU TR T5! & (B SUDT Y Jog-TeRH 34 Slec] of ATy ATHSRI! 941 S| T 39T H gars
e U I AR AGMRI Y Ud & R Bl IR &R gDl 5, 38 @I DIFdl AR T4 & TR eI & HRUI
31 4 & TR WR 81 3§ B GHIGT &1 7Y Wl fa&=il ART ur it wicregelf 381 1 M7= g1 « 3HThT TR’
& TR 3R 9l TRA gRT IRATEH & J:UR™ J TIRAR HHAdl & fag of 7 gevit| vr-3
DIfdS-gd & TRI IR HHARG] & dad DI YH:10d R G 6|

<fth HRTT I Ik & Qe G =0T Y= B 6T 6. U 39 ¥ JY SN b &R G arell g1l &
dgd doil ¥ HH Bl P 3041 8 | I3 gHar H HRA Had dell I fdbRid g dlell 3g4- a9k ¢ 4R
g IrgaHl & d & e H 38 YR 3=<IR1d Ure-l g | <% H gars-ardimard H dfe & S{HM] Bl
¢Ed gU HRAR TR A1l Pl cdadl IRAH-UED] & U H 3R d¢-1 B GRHIG § | TRDR STl
SR & dR R, gdls 331 IR IS &H DR & [oTT B! goic Td DR Yol ¢ AR o=f argyH 3E-34d
3T & fAh™T & UIifed #x el 81 aad drgal & e I YR 359 ST areR FHad @1 g ok
FHBIC! YU dTel SThTI 37| Hcllal B 6l 6
The factor adversely affecting Indian aviation is

1. Removal of airfare caps

2. Softening of jet fuel prices.

3 Decimmg value of rupee against US dollar.

4. Indian airlines acquiring clout as aircraft buyers.

1) 1
2) 2
(3 3
(@) 4




YRA 35T DI TDRIAD 11 ¥ UHI[dd R dIdl dRb 9 & -

1. §aTs (I DI I THI DI gl oFT

2. SIC S DA § DA

3. 3ARD STeR & FHE & 9d DI TRAT g

4. RO 359 HHT] T AT - UIgPI & Y H 43T Gdad]
1) 1

) 2

(3) 3

4) 4

1[Option ID=41081] Question Description : management_management_setl_english_q96
2[Option ID=41082]
3[Option ID=41083]
4[Option ID=41084]
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Read the following passage carefully and answer the questions that follow:

Indian aviation will fly out of pandemic-induced fare bands with some of its heaviest losses behind it. Indian
fliers have also been through a bout of technical glitches that the authorities have traced back to aircraft not
having enough certifying manpower and flying with the minimum permissible list of defective equipment. A
strong festive demand could reverse the sequential declines in air travel during the ongoing lean season. The
removal of airfare caps coincides with a recent softening of jet fuel prices which, however, remain elevated.
Freedom to pass on the biggest cost component to fliers should improve the financial metrics of airlines. One is
keeping one’s fingers crossed and seat belts buckled.

The industry is witnessing a round of capial infusion that also affects the competitive intensity. The Tatas are
consolidating the splintered market share of the group’s various airlines, and SpiceJet is considering a stake sale
to raise funds. Market leader Indigo expects its strong revenue performance will lead it back into profits soon.
Although the industry’s air traffic yields have surpassed pre-pandemic levels, fuel costs and a declining rupee
could subdue earnings. Newly opened up foreign routes are likely to witness stiff competition. The launch of
Akasa Air and resumption of operations by Jet Airways will increase demand for airline employees. Air India is
restoring salaries to pre-Covid levels.

Industry-wide losses are expected to fall sharply this year as Indian aviation enters another phase of growth.
India is among the fastest growing aviation markets in the world and has a lot of catching up to do in terms of the
size of its commercial aircraft fleet. Given the country’s traffic growth projections, Indian airlines are likely to
acquire more clout as aircraft buyers. The government, on its part, has a high budget for decongesting airports
and is encouraging the development of the domestinc aircraft maintenance industry. As India’s airlines fly out of
the current cloud bank, sunny skies await.

fafaRad &1 ud ok i< fauw T usil & IR i -

HRAG 358 HMRI-SId fhrar <31 9 €1gR b d 31| & Jad R JHar Ui g S|
YR fqA gt H 9gd IRt daiat usmsulﬁgxﬂ{%lw@ Ald & ¥U # f¥b1ial 3 argai &
YUV g HFd SH1EH] 1 Uaid IUasdl § HHT 3R argarl gRTYAqH 04 Yl & @ER1E 341 & 91y
35 I fafgd fan 81 3w Tt a1 SR # 81 <8 pads R1ae &1 dieRi & d19H § g arefl Hogd |
el Hebil o | §aTs-IhRIT Bl I=-HIHT & §eTU S o 1Y 51 gl 81 H Slc-34- & Jed | Hl HH! 3Rl g,
eI g onfl 3l B | Had 98 ANTd-3Haud] 1 gals A1l IR RIFIRT B3 1 WAl 4 350
HHR B fai STael Gert | 39 T | 3RIPIY §1H TR i =iy 1R

29 I doil-Fu=A Haw &1 o ue <R 94 381 ¢ o/ sua! wiaegsicrs gear o uuifdd g gl g
T 9Hg 31Ul fafHd arg-ulkdag- &t +fal # [ddl a1oR &1 [giaIRal & Gafdd #3616 3R
Trggsic Yol Sier @ e Wit &1 U g8l do R f[qaR S E1 & | d6IR DI Agcd PRI Sl i
g MU TR T5! & (B SUDT Y Jog-TeRH 34 Slec] of ATy ATHSRI! 941 S| T 39T H gars
e U I AR AGMRI Y Ud & R Bl IR &R gDl 5, 38 @I DIFdl AR T4 & TR eI & HRUI
31 4 & TR WR 81 3§ B GHIGT &1 7Y Wl fa&=il ART ur it wicregelf 381 1 M7= g1 « 3HThT TR’
& TR 3R 9l TRA gRT IRATEH & J:UR™ J TIRAR HHAdl & fag of 7 gevit| vr-3
DIfdS-gd & TRI IR HHARG] & dad DI YH:10d R G 6|

<fth HRTT I Ik & Qe G =0T Y= B 6T 6. U 39 ¥ JY SN b &R G arell g1l &
dgd doil ¥ HH Bl P 3041 8 | I3 gHar H HRA Had dell I fdbRid g dlell 3g4- a9k ¢ 4R
g IrgaHl & d & e H 38 YR 3=<IR1d Ure-l g | <% H gars-ardimard H dfe & S{HM] Bl
¢Ed gU HRAR TR A1l Pl cdadl IRAH-UED] & U H 3R d¢-1 B GRHIG § | TRDR STl
SR & dR R, gdls 331 IR IS &H DR & [oTT B! goic Td DR Yol ¢ AR o=f argyH 3E-34d
3T & fAh™T & UIifed #x el 81 aad drgal & e I YR 359 ST areR FHad @1 g ok
FHBIC! YU dTel SThTI 37| Hcllal B 6l 6
The future of Indian aviation industry is likely to be

1. Favourable
2. Unfavourable
3. Uncertain
4. Challenged
1) 1
(2) 2
(3) 3
4) 4




HRAN 35T N1 BT HIGT g Pl GHIG & -

1. 3T

3. AT
4. Aol
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=41085]
2[Option ID=41086]
3[Option ID=41087]
4[Option ID=41088]
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Read the following passage carefully and answer the questions that follow:

Indian aviation will fly out of pandemic-induced fare bands with some of its heaviest losses behind it. Indian
fliers have also been through a bout of technical glitches that the authorities have traced back to aircraft not
having enough certifying manpower and flying with the minimum permissible list of defective equipment. A
strong festive demand could reverse the sequential declines in air travel during the ongoing lean season. The
removal of airfare caps coincides with a recent softening of jet fuel prices which, however, remain elevated.
Freedom to pass on the biggest cost component to fliers should improve the financial metrics of airlines. One is
keeping one’s fingers crossed and seat belts buckled.

The industry is witnessing a round of capial infusion that also affects the competitive intensity. The Tatas are
consolidating the splintered market share of the group’s various airlines, and SpiceJet is considering a stake sale
to raise funds. Market leader Indigo expects its strong revenue performance will lead it back into profits soon.
Although the industry’s air traffic yields have surpassed pre-pandemic levels, fuel costs and a declining rupee
could subdue earnings. Newly opened up foreign routes are likely to witness stiff competition. The launch of
Akasa Air and resumption of operations by Jet Airways will increase demand for airline employees. Air India is
restoring salaries to pre-Covid levels.

Industry-wide losses are expected to fall sharply this year as Indian aviation enters another phase of growth.
India is among the fastest growing aviation markets in the world and has a lot of catching up to do in terms of the
size of its commercial aircraft fleet. Given the country’s traffic growth projections, Indian airlines are likely to
acquire more clout as aircraft buyers. The government, on its part, has a high budget for decongesting airports
and is encouraging the development of the domestinc aircraft maintenance industry. As India’s airlines fly out of
the current cloud bank, sunny skies await.

fafaRad &1 ud ok i< fauw T usil & IR i -

HRAG 358 HMRI-SId fhrar <31 9 €1gR b d 31| & Jad R JHar Ui g S|
YR fqA gt H 9gd IRt daiat usmsulﬁgxﬂ{%lw@ Ald & ¥U # f¥b1ial 3 argai &
YUV g HFd SH1EH] 1 Uaid IUasdl § HHT 3R argarl gRTYAqH 04 Yl & @ER1E 341 & 91y
35 I fafgd fan 81 3w Tt a1 SR # 81 <8 pads R1ae &1 dieRi & d19H § g arefl Hogd |
el Hebil o | §aTs-IhRIT Bl I=-HIHT & §eTU S o 1Y 51 gl 81 H Slc-34- & Jed | Hl HH! 3Rl g,
eI g onfl 3l B | Had 98 ANTd-3Haud] 1 gals A1l IR RIFIRT B3 1 WAl 4 350
HHR B fai STael Gert | 39 T | 3RIPIY §1H TR i =iy 1R

29 I doil-Fu=A Haw &1 o ue <R 94 381 ¢ o/ sua! wiaegsicrs gear o uuifdd g gl g
T 9Hg 31Ul fafHd arg-ulkdag- &t +fal # [ddl a1oR &1 [giaIRal & Gafdd #3616 3R
Trggsic Yol Sier @ e Wit &1 U g8l do R f[qaR S E1 & | d6IR DI Agcd PRI Sl i
g MU TR T5! & (B SUDT Y Jog-TeRH 34 Slec] of ATy ATHSRI! 941 S| T 39T H gars
e U I AR AGMRI Y Ud & R Bl IR &R gDl 5, 38 @I DIFdl AR T4 & TR eI & HRUI
31 4 & TR WR 81 3§ B GHIGT &1 7Y Wl fa&=il ART ur it wicregelf 381 1 M7= g1 « 3HThT TR’
& TR 3R 9l TRA gRT IRATEH & J:UR™ J TIRAR HHAdl & fag of 7 gevit| vr-3
DIfdS-gd & TRI IR HHARG] & dad DI YH:10d R G 6|

<fth HRTT I Ik & Qe G =0T Y= B 6T 6. U 39 ¥ JY SN b &R G arell g1l &
dgd doil ¥ HH Bl P 3041 8 | I3 gHar H HRA Had dell I fdbRid g dlell 3g4- a9k ¢ 4R
g IrgaHl & d & e H 38 YR 3=<IR1d Ure-l g | <% H gars-ardimard H dfe & S{HM] Bl
¢Ed gU HRAR TR A1l Pl cdadl IRAH-UED] & U H 3R d¢-1 B GRHIG § | TRDR STl
SR & dR R, gdls 331 IR IS &H DR & [oTT B! goic Td DR Yol ¢ AR o=f argyH 3E-34d
3T & fAh™T & UIifed #x el 81 aad drgal & e I YR 359 ST areR FHad @1 g ok
FHBIC! YU dTel SThTI 37| Hcllal B 6l 6




Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  Pandemic is not the only reason for the losses in the aviation industry.

Reason (R): Large number of technical reasons have resulted into the cancellation of flights.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are cotrect and (R) is the correct explanation of (A).
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is incorrect.
4. (A) is incorrect but (R) is correct.
1) 1
(2) 2
3) 3
4) 4

19 ST HUA [GUITY § : U AMHDHYT Assertion (A) b FY H ARG ¢ dl gURI 3Hb HRU Reason (R) b &Y
H:

STHBY A : I I H 8T D1 Ueb HHA SR HGHRT 181 8|
PRUIR : IS b E 5iF & U dgd IR db-ild] DRUITE B
SWRIFT HY & 3HTcdlp H, =i ST T f[dbetl # 9 a8 Iugad IR 1 94 bifoy

.(A) TR (R) S eI § TR (R). (A) I Wl ARGl
(A) 3R (R) T U €. AfdA (R), (A) D UEl ARG 6l B
.(A) Hgl &, b (R) Wo! Tol &
.(A) T Tl 7, dfdh (R) T8I &

1)1
(2) 2
(3) 3
(4) 4

(TSI o R

=
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Read the following passage carefully and answer the questions that follow:

Indian aviation will fly out of pandemic-induced fare bands with some of its heaviest losses behind it. Indian
fliers have also been through a bout of technical glitches that the authorities have traced back to aircraft not
having enough certifying manpower and flying with the minimum permissible list of defective equipment. A
strong festive demand could reverse the sequential declines in air travel during the ongoing lean season. The
removal of airfare caps coincides with a recent softening of jet fuel prices which, however, remain elevated.
Freedom to pass on the biggest cost component to fliers should improve the financial metrics of airlines. One is
keeping one’s fingers crossed and seat belts buckled.

The industry is witnessing a round of capial infusion that also affects the competitive intensity. The Tatas are
consolidating the splintered market share of the group’s various airlines, and SpiceJet is considering a stake sale
to raise funds. Market leader Indigo expects its strong revenue performance will lead it back into profits soon.
Although the industry’s air traffic yields have surpassed pre-pandemic levels, fuel costs and a declining rupee
could subdue earnings. Newly opened up foreign routes are likely to witness stiff competition. The launch of
Akasa Air and resumption of operations by Jet Airways will increase demand for airline employees. Air India is
restoring salaries to pre-Covid levels.

Industry-wide losses are expected to fall sharply this year as Indian aviation enters another phase of growth.
India is among the fastest growing aviation markets in the world and has a lot of catching up to do in terms of the
size of its commercial aircraft fleet. Given the country’s traffic growth projections, Indian airlines are likely to
acquire more clout as aircraft buyers. The government, on its part, has a high budget for decongesting airports
and is encouraging the development of the domestinc aircraft maintenance industry. As India’s airlines fly out of
the current cloud bank, sunny skies await.

ﬁuﬁr@ﬁﬁqﬁsﬁ?:ﬂ%ﬁqﬁqﬁaaﬁw

HRAG 358 HMRI-SId fhrar <31 9 €1gR b d 31| & Jad R JHar Ui g S|
YR faar g o 9gd IRt ddb-iot Teafedl 9 ToR g [SHd Hid & wu H a1yl 3 argarHi &
YUV g HFd SH1EH] 1 Uaid IUasdl § HHT 3R argarl gRTYAqH 04 Yl & @ER1E 341 & 91y
35 I fafgd fan 81 3w Tt a1 SR # 81 <8 pads R1ae &1 dieRi & d19H § g arefl Hogd |
el Hebil o | §aTs-IhRIT Bl I=-HIHT & §eTU S o 1Y 51 gl 81 H Slc-34- & Jed | Hl HH! 3Rl g,
eI g onfl 3l B | Had 98 ANTd-3Haud] 1 gals A1l IR RIFIRT B3 1 WAl 4 350
HHR B fai STael Gert | 39 T | 3RIPIY §1H TR i =iy 1R

29 I doil-Fu=A Haw &1 o ue <R 94 381 ¢ o/ sua! wiaegsicrs gear o uuifdd g gl g
T 9Hg 31Ul fafHd arg-ulkdag- &t +fal # [ddl a1oR &1 [giaIRal & Gafdd #3616 3R
Trggsic Yol Sier @ e Wit &1 U g8l do R f[qaR S E1 & | d6IR DI Agcd PRI Sl i
g MU TR T5! & (B SUDT Y Jog-TeRH 34 Slec] of ATy ATHSRI! 941 S| T 39T H gars
e U I AR AGMRI Y Ud & R Bl IR &R gDl 5, 38 @I DIFdl AR T4 & TR eI & HRUI
31 4 & TR WR 81 3§ B GHIGT &1 7Y Wl fa&=il ART ur it wicregelf 381 1 M7= g1 « 3HThT TR’
& TR 3R 9l TRA gRT IRATEH & J:UR™ J TIRAR HHAdl & fag of 7 gevit| vr-3
DIfdS-gd & TRI IR HHARG] & dad DI YH:10d R G 6|

<fth HRTT I Ik & Qe G =0T Y= B 6T 6. U 39 ¥ JY SN b &R G arell g1l &
dgd doil ¥ HH Bl P 3041 8 | I3 gHar H HRA Had dell I fdbRid g dlell 3g4- a9k ¢ 4R
g IrgaHl & d & e H 38 YR 3=<IR1d Ure-l g | <% H gars-ardimard H dfe & S{HM] Bl
¢Ed gU HRAR TR A1l Pl cdadl IRAH-UED] & U H 3R d¢-1 B GRHIG § | TRDR STl
SR & dR R, gdls 331 IR IS &H DR & [oTT B! goic Td DR Yol ¢ AR o=f argyH 3E-34d
3T & fAh™T & UIifed #x el 81 aad drgal & e I YR 359 ST areR FHad @1 g ok
FHBIC! YU dTel SThTI 37| Hcllal B 6l 6
Which one of the following will impair the competitive intensity of the industry?

1. Capital infusion
2. Consolidation of market share
3. Launch of Akasa Airline
4. Turbulence in fuel prices.
1) 1
(2) 2
(3) 3
4) 4




3N 1 Hioquicis To-ar &1 g1 Ugaq & 9 4 4 319 91 SR IRard 82

2. 99R ¥ R &1 g
3, 3D TIRATST B UR™
4. 389 @ Bl H IdR-AGE
1) 1
2) 2
(3) 3
4) 4

1[Option ID=41093] Question Description : management_management_setl_english_q99
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Sl. No.100
QBID:117100




Read the following passage carefully and answer the questions that follow:

Indian aviation will fly out of pandemic-induced fare bands with some of its heaviest losses behind it. Indian
fliers have also been through a bout of technical glitches that the authorities have traced back to aircraft not
having enough certifying manpower and flying with the minimum permissible list of defective equipment. A
strong festive demand could reverse the sequential declines in air travel during the ongoing lean season. The
removal of airfare caps coincides with a recent softening of jet fuel prices which, however, remain elevated.
Freedom to pass on the biggest cost component to fliers should improve the financial metrics of airlines. One is
keeping one’s fingers crossed and seat belts buckled.

The industry is witnessing a round of capial infusion that also affects the competitive intensity. The Tatas are
consolidating the splintered market share of the group’s various airlines, and SpiceJet is considering a stake sale
to raise funds. Market leader Indigo expects its strong revenue performance will lead it back into profits soon.
Although the industry’s air traffic yields have surpassed pre-pandemic levels, fuel costs and a declining rupee
could subdue earnings. Newly opened up foreign routes are likely to witness stiff competition. The launch of
Akasa Air and resumption of operations by Jet Airways will increase demand for airline employees. Air India is
restoring salaries to pre-Covid levels.

Industry-wide losses are expected to fall sharply this year as Indian aviation enters another phase of growth.
India is among the fastest growing aviation markets in the world and has a lot of catching up to do in terms of the
size of its commercial aircraft fleet. Given the country’s traffic growth projections, Indian airlines are likely to
acquire more clout as aircraft buyers. The government, on its part, has a high budget for decongesting airports
and is encouraging the development of the domestinc aircraft maintenance industry. As India’s airlines fly out of
the current cloud bank, sunny skies await.

fafaRad &1 ud ok i< fauw T usil & IR i -

HRAG 358 HMRI-SId fhrar <31 9 €1gR b d 31| & Jad R JHar Ui g S|
YR fqA gt H 9gd IRt daiat usmsulﬁgxﬂ{%lw@ Ald & ¥U # f¥b1ial 3 argai &
YUV g HFd SH1EH] 1 Uaid IUasdl § HHT 3R argarl gRTYAqH 04 Yl & @ER1E 341 & 91y
35 I fafgd fan 81 3w Tt a1 SR # 81 <8 pads R1ae &1 dieRi & d19H § g arefl Hogd |
el Hebil o | §aTs-IhRIT Bl I=-HIHT & §eTU S o 1Y 51 gl 81 H Slc-34- & Jed | Hl HH! 3Rl g,
eI g onfl 3l B | Had 98 ANTd-3Haud] 1 gals A1l IR RIFIRT B3 1 WAl 4 350
HHR B fai STael Gert | 39 T | 3RIPIY §1H TR i =iy 1R

29 I doil-Fu=A Haw &1 o ue <R 94 381 ¢ o/ sua! wiaegsicrs gear o uuifdd g gl g
T 9Hg 31Ul fafHd arg-ulkdag- &t +fal # [ddl a1oR &1 [giaIRal & Gafdd #3616 3R
Trggsic Yol Sier @ e Wit &1 U g8l do R f[qaR S E1 & | d6IR DI Agcd PRI Sl i
g MU TR T5! & (B SUDT Y Jog-TeRH 34 Slec] of ATy ATHSRI! 941 S| T 39T H gars
e U I AR AGMRI Y Ud & R Bl IR &R gDl 5, 38 @I DIFdl AR T4 & TR eI & HRUI
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Which of the following are the initiatives taken by the Government to promote aviation industry?

A. Big budget for decongesting airports.

B. Encouraging domestic aircraft maintenance industry.
C. Capital infusion to expand capacity.

D. Reducing the permissible list of defective equipment.
E. Removal of airfare caps.

Choose the most appropriate answer from the options given below :

1. A, B only
2. A,B.E only
3. C and D only
4. A, B, Conly
1
() 2
(3) 3
(4) 4

35T FENT Bl Y TTgd B o [ WDHR A FHfARId # ¥ i Ul Ugd Bl g2

A. BaTg S R HIS B0 S & 01U 93 Foic BT Wraei=
B. ¢RI AR-IUH-3ERETG IUNT Bl UichIg-

C. &I fa%IR & ferg goit Fdw

D. W1 UGN Pl AT Gl Bl HH BT

E. §als [T D1 J= UH DI M

i fau U fadedi § 9 gl IR &1 999 Bifviu|

1. hdd A, B
2. $dd A, B.E
3.%dd C, D
4. hdd A. B, C

(1) 1
(2) 2
3) 3
(4) 4
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